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CENTURY FOUNDATION MATRIC. HR.SEC.SCHOOL, TIRUPUR

XI1 ACCOUNTANCY - UNIT —01-INSIDE QUESTIONS 100 X 1 =100

1.

17

Statement of affairs is a
(a) Statement of income and expenditure (b) Statement of assets and liabilities
(c) Summary of cash transactions (d) Summary of credit transactions
The excess of assets over liabilities is
(@) Loss (b) Cash (c) Capital (d) Profit
The amount of credit sales can be computed from
(a) Total debtors account (b) Total creditors account
(c) Bills receivable account (d) Bills payable account
What is the amount of capital of the proprietor, if his assets are Rs 85,000 and liabilities are Rs 21,0007
(@) Rs 85,000 (b) Rs 1,06,000(c) Rs 21,000 (d) Rs 64,000

(@ Rs 9,000 (b) Rs 11,000 (c) Rs 21,000 (d) Rs 3,000
Opening balance of debtors: Rs 30,000, cash received: Rs 1,00,000, credit sales: ‘@) ;
debtors is N

(@ Rs 30,000 (b) Rs 1,30,000(c) Rs 40,000 (d) Rs 20,0 \
The different between the total of assets and total of liabilities is taken as

(a) drawings (b) capital (c) profit d) loss
The total assets of a proprietor are Rs 5,00,000 His liabilities Rs 3, i Thel his capital in the business is
00

4

(@) Rs 8,50,000 (b)Rs 1,50,000(c) Rs 3,50,000(d) Rs, 4,25)Q
A firm has assets worth Rs 60,000 and capital Rs 45,000 The%b}'hties is
(@) Rs 45,000 (b) Rs 1,05,000(c) Rs 60,000 N s 15,000

. Under the net worth method, the basis for ascertaining the p (t

() the difference between the capital on two dates

(b) the difference between the liabilities on two dates )
(c) the different between the gross assets on t

(d) the difference between the gross profit q’\ 0 Hates

. Credit sale is obtained from

() Bills receivable account b) BIJ s’f:)ayable account

(c) Total debtors account (d) Total creditors account
. The capital of a business is ascertai yepreparing

(&) Trading account \ J(b) Statement of profit or loss
(c) Balance sheet (d) Statement of affairs

. Credit purchase is obtained

(a) Bills recelvabl (b) Bills payable account

year is Rs 1,60
(a) Rs

en the credit sales during the year is
(b) Rs 2,40,000(c) Rs 1,40,000(d) Rs 1,60,000
es is Rs 80,000 and its credit sales is Rs 60,000 Then its cash sales is
000 (b) Rs 70,000 (c) Rs 20,000 (d) Rs 80,000
assets worth Rs 47,500 and liabilities Rs 17,700 Then its capital is
(b) Rs 65,200 (c) Rs 35,400 (d) Rs 17,700
panies cannot keep books on single entry system because of
() tax properties (b) legal provisions (c) both (a) and (b) (d) None of these

(c) Total debtors (d) Total creditors account
. Debtorson 14 20&& s 1,00,000 and on 31 32019 was Rs 80,000 cash received from debtors during the

18. Match List I with List Il and Select the Correct Answer using the Codes given below

List | List 1
(1) Incomplete records Net worth method
(i) Single entry system Double entry
(iii)  Statement of affairs method Small traders
(iv) Nominal account Incomplete double system

@ @ ) (i) () ) @ (i) (iv)
1 2 3 4 4 3 1 2
© @ Gy (i) () @) @Gy G (iv)
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2 3 1 4 3 4 1 2
. Match List I with List Il and Select the Correct Answer using the Codes given below
List | List 1
(1) Nature Needs and conveniences
(i) Types of accounts No legal obligations
(iii) Lack of uniformity Real account and nominal accounts
(iv)  Suitability Unsystematic way of transactions

(@) () (i) (i) (iv) () () (i) (i) (iv)
1 2 3 4 2 3 4 1

© 0 iy (i) (v) @ (@) @iy (i) (iv)
4 3 1 2 3 4 2 1
20. Incomplete records are those records which are not kept under _ system
(@) Singleentry  (b) Double entry (c) Book keeping (d) none of these
21. is an unscientific and unsystematic way of recording transactions

(@) Incomplete records (b) Complete records x

(c) Single entry system (d) Double entry system Y

22. Statement of affairs method is also called as method \
(a) Net profit (b) Net loss (c) Net worth/capital comparison d) None of these
23. is a statement showing the balances of assets and liabilities on a patticular date
(a) Statement of affairs (b) Trading account (c) Profi%@eu’ﬁt (d) Balance sheet

24, capital can be found by preparing a statement of affairs at the begi " of the year

(a) Opening capital (b) Closing capital (c) Both (a) a% S/ (d) None of these
25. A statement of affairs resembles a y
(&) Trading account(b) Profit and loss account (W sheet (d) Trial balance
26. Closing capital can be found by preparing a statement affairs\at the’ of the year
(a) opening(b) end (c) centre (d) none of thésSe
27. In system, only personal and cash accounts arg,open
(@) Singleentry  (b) Double entry balance (d) Balance Sheet
28. Creditors on 1 4 2016 was Rs 80,000 and on 3 D7 was Rs 65,000 cash paid to creditors during the year is
Rs 10,000 Then the credit purchases durifiy the year is
(@) Rs 95,000 (b) Rs 1,75,000(c) Rs I,J95,000 (d) Rs 1,50,000
29. maintains only personal and €ash ts
(&) Single entry system ble entry system (c) Both (a) and (b) (d) None of these
30. is suitable only for sole \and partnership firms
(a) Double entry system ingle entry system (c) Both (a) and (b) (d) None of these
31. Single entry system keeps 0 h book which mixes up business as well as___ transactions

(@) Private (c) Public (d) Capital
32. True financial positi %o e ascertained as is not prepared due to the absence of nominal and real
accounts

(@) Tradin S (b) Profit and loss account (c) Balance sheet (d) Trail balance
33. Ifitis desired%a ulate profit by preparing trading and profit and loss account under single entry then it is

called ethod
rth (b) Statement of affairs (c) Conversion (d) None of these

34. Insing try system of accounting

(a) Duel aspects of a transaction is recorded (b) Single aspect of transaction is recorded

c} Important transaction are recorded (d) All of them
35. ement of financial position from incomplete accounting record is commonly known as

(a) Balance sheet (b) Cash flow statement

(c) Statement of affairs (d) Statement of financial operations
36. In which of the following system of recording the financial statements reflect true and fair view of an entity and

accounting records are considered to be more accurate?

(a) Single entry system (b) Double entry system(c) Cash based system  (d) All of them
37. ldentify the correct formula used to ascertain the closing capital

(a) Opening capital + Net income - Drawings - Assets = Closing capital

(b) Closing capital = Opening capital + Net loss — Drawings

(c) Closing capital = Opening capital + Assets + Income — Expenses

(d) Closing capital = Opening capital + Net income - Drawings
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. Which of the following formulas is used to calculate the net income for an accounting period?
(a) Net income = Opening capital + Drawings + Ending capital
(b) Net income = - Opening capital + Drawings - Ending capital
(c) Net income = - Opening capital + Drawings + Ending capital
(d) Net income = Opening capital - Total assets
. If opening capital Rs 1,000 and closing capital Rs 2000 Assuming no drawings during the accounting period,
calculated the net income or loss for the period
(@) Rs 1,000 netincome  (b) Rs 1,000 netloss  (c) Rs 2,000 net income (d) Rs 2,000 net loss
. Total opening balances of assets and liabilities are Rs 10,000 and Rs 5,000 respectively Find out the opening
capital of the business
(@) Rs 10,000 (b) Rs 5,000 (c)Rs 15,000 (d) Rs 50,00,000
. Which one of the following accounts is supposed to be used to get the figure of credit purchase made dur'u%g the
current accounting period? ®
(a) Debtors account (b) Revenue account
(c) Creditors account (d) Expenses account
. A method wherein omitted information is determined in the first place and by usin h‘Qror ation net income
or net loss is ascertained is known as Q\Y )
(a) Nominal method (b) Cash method Q
(c) Conversion method (d) Net profit method
. If creditors balance eas Rs 1,000 at 1st Jan 2017, ending balance of creditors was RS 2,000 on 31st Dec 2017
and a payment of Rs 500 was made to creditors, which of the following i agount of purchase made during
the year 2017? ,é
(@ Rs 2,500 (b) Rs 500 (c) Rs 1,500 4 }d) Rs 2,000
. If debtors balance was Rs 2 000 at 1st Jan 2017, credit sales wtihg the year were Rs 1,000 and Rs 1,500
were received from debtors, which of the following is the 0 ount balance at 31st Dec 20177
(@) Rs 1,000 (b) Rs 2,000 (c) Rs 1,500, ) (d) Rs 500
. Calculate the amount of net income or loss if the capital has beén increased by Rs 1,000 during this accounting
period drawings Rs 5,000 and Rs 1,000 fresh capitalwas imtroduced in the business___
(@) Rs 5,000 net loss ,000 net profit
(c) Rs 6,000 net loss RE 6,000 net profit

46. Single entry system has effect (
(@) One effect (b) Two effect ) '(f:) Three effect (d) None of the above
47. In single entry system, is not possihle to e

(a) Receipts and payments Ac&t ° (b) Trial Balance
(c) Balance Sheet N\’ (d) Account sales
48. In single entry system must suited Where
(a) Cash transactions a y (b) Cash transactions are many
(c) Cash & Credit tr, ns are many (d) None of the above
49. Capital can be obtain réparing
Statement of Affairs (c) Debtors Account  (d) Creditors account

50. Insingle entry nly accounts are opened
@ Perse% ash A/c  (b) Real A/c  (c) Nominal A/c (d) Real & Nominal A/c

51. In single eptiksystem profit is calculated as follows:
Opeéning capital + Drawings + Fresh Capital + Ending capital
(b ital at the end - Drawings - Fresh capital - Opening capital
(c) Capital at the end + Drawings - Fresh capital - Opening capital
None of the above
52. atement of assets and liabilities prepared under the single entry system is called
(a) Balance sheet (b) Financial statement (c) Cash Statement (d) Statement of Affairs
53. Net worth of an organization means the excess of its total assets over total
(a) Expenses (b) Incomes  (c) Liabilities (d) Both (a) & (b)
54. Statement of assets & liabilities prepared under Single entry system is called
(a) Balance sheet (b) Profit & Loss Statement (c) Statement of affairs (d) Income Statement
55. Statement of assets & liabilities prepared under double entry system is called
(a) Balance sheet (b) Profit & Loss Statement (c) Statement of affairs (d) Income Statement
56. More accurate profit and loss account can be prepared in
(a) Modern accounting system (b) Single entry system
(c) Double entry system (d) None of these
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. Opening capital is obtained by preparing
(@) Debtors Alc  (b) Creditors Alc (c) Opening Statement of Affairs (d) Cash Alc
. If opening capital is Rs 10,000 & Closing capital is Rs 15,000 then profit or loss
(a) Loss of Rs 5,000 (b) Profit of Rs 2,500 (c) Profit of Rs 5,000 (d) None of these
. If building (Closing) Rs 1,00,000, Land (Opening) Rs 1,00,000, Creditors (Opening) Rs 10,000 the opening
capital:
(@ Rs 1,90,000 (b) Rs 2,10,000(c) Rs 90,000 (d) None of these
. Trial balance is not obtained in:
(@) Double entry system (b) Modern entry system
(c) Single entry system (d) None of these
. In single entry two-fold aspects of transaction are not recorded, so it is
(@) Complete & Scientific (b) Incomplete & Unscientific o
(c) Complete & Unscientific (d) Incomplete & Scientific ®

. Single entry system is not possible for:
(@) Sole Trader  (b) Partnership (c) Joint Stock Company (d) §

. Balance sheet is prepared under
(a) Single entry system (b) Double entry system(c) Both (a) & (b) @Qy

. In net worth method of single entry, net profit or net loss is ascertained by
() Preparing trading and profit and loss account
(b) Comparing opening and closing balance of capital
(c) Adopting any other method g

/af these

(&) Opening Balance (b) Closing Bakance ( y

(c) Only on additional (d) Amo ealized on asset sole
. When B/R dishonoured is shown in the (0

(a) Debtors A/c is debited and Creditors A/c is credited

(b) Creditors A/c is debited and Debtors Alcisc diteplo}

(c) B/R account is debited and Creditors A/c i ited

(d) None of these ,Q
. Generally, depreciation on fixed assets is calculated on which % & /\

. Effects of dishonour of B/R is given
(@) Only in the B/R account in the debtors A/c
(c) In debtor A/c and B/R Alc = (d) Only in the B/P account

. Interest on capital is calculate on wi capital
(&) Opening capital (b) Clo gp?tal (c) Opening Stock (d) Closing Stock

. Closing capital can be found by préparing a statement of affairs at the of the year
(@) Opening ° b) End (c) Centre (d) All of these

. A firm has liabilities is 000 and Capital is Rs 25,000 Then its assets is
(@ Rs 1,00,000 (b) Rs 25,000 (c) Rs 50,000 (d) Rs 75,000

. Single entry syste%‘ one cash book which mixes up business as well as transactions.

(@) Private (b) Public (c) Own (d) All of these
is not based on dual aspect concept
ntry system (b) Double entry system
Sheet (d) Statement of Affairs
73. Trial e shows machinery of Rs 2,00,000 Depreciation is provided at 10% The depreciation on

achinery will be
af Rs 20,000 (b) Rs 1,80,000(c) Rs 2,20,000(d) Rs 1,50,000
74. ch of the following equation(s) is (are) true
(a) Assets = Liabilities + Capital (b) Assets - Capital = Liabilities
(c) Both (a) & (b) (d) None of these
75. Which one is correct
(a) Adjusting Closing Capital = Closing capital + Drawings - Additional Capital
(b) Adjusting Closing Capital = Closing capital - Drawings - Additional Capital
(c) Adjusting Closing Capital = Additional Capital + Drawings - Closing Capital
(d) None of these
76. A firm's total sales is Rs 80,000 and its credit sales id Rs 60,000 then its cash sales is
(@ Rs 20,000 (b) Rs 1,40,000(c) Rs 70,000 (d) Rs 25,000
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. Debtors on 31 12 2014 is Rs 2,00,000 Cash received from debtors during the year is Rs 3,00,000 Then the
credit sales during the year is
(@ Rs 1,00,000 (b)Rs 2,00,000(c) Rs 3,00,000(d) Rs 5,00,000
. Creditorson 11 2014 isRs 1,21,000 and on 31 12 2014 Rs 1,30,000 Cash paid to creditors during the year is
Rs 2,09,000 Then the credit purchase during the year is
(@) Rs 2,00,000 (b)Rs 2,09,000(c) Rs 2,18,000(d) Rs 2,08,000
. If adjusted closing capital is more than the opening capital, it denotes
() Profit (b) Loss (c) Opening Capital (d) Expenses
. Companies cannot keep books on single entry system because of
(a) Tax Properties(b) Legal Provisions (c) Both (a) & (b) (d) None of these
. Following are the limitations of incomplete records except
(a) Lack of proper maintenance of records
(b) Difficulty in preparing trial balance
(c) Difficulty in ascertaining true profitability of the business
(d) Suitability

. Capital at the end - net profit + drawings =
(a) Capital in Beginning (b) Gross profit «‘y Y
(c) Interest on capital (d) Interest on drawings \
. A business is said is to be used system It is not following the&)te the principles of book

keeping of system
(a) Double Entry - Single Entry (b) Single Entry ,@ Qﬂaﬂ
in

(c) Double Entry - Double Entry (d) Single Entry
84. Single Entry System is
(@) A scientific Method (b) An incomWouble entry system

(c) None of those (d) All th@ 3
85. Single Entry System will not be accepted by )
(a) Proprietor (b) partners (c) Tax authorifies (d) All the above
. Single Entry System capital is calculated o)
(a) Capital = Assets — liabilities (b) Asseégzhpital — liabilities
(c) Capital = Asset + liabilities Axset = liabilities - Capitals
. Credit purchase is obtained from (
(a) Total Debtors Account b) T9ta1/cred|tors Account
(c) Statement of affairs (d) All the above
. Statement of affair is like a °
(&) Trading of account (b) pr 108s Account (c) Balance sheet (d) Cash All
. Capital in the beginning of the accounting year is ascertained by preparing
(a) Debtors Accourtt (b‘ (b) cash Account
(c) Opening statem fairs (d) Balance sheet

. In case of networks 0 Smgle Entry System Profit is ascertained by
@) Comparl |taI in the beginning of the accounting period and the capital at the end of the

accoun
(b) Prep roflt and loss account

(c Pr g a Balance sheet
these
|tal at the end + - Capital introduced - Capital in the beginning
(b) Drawings (c) Net Purchase (d) Net sales
incomplete records it is possible to prepare
(a) Ledger Accounts (b) Trial balance (c) Statement of affairs (d) Balance sheet
93. Cash received from Debtors needed for the preparation of cash account can be held from :
(a) Total debtors a/c (b) Balance sheet (c) Analysis of cash book (d) Sundry creditors
94. Given the opening and closing balance of Debtors and the figure of credit sales the balancing figure of total
debtors account will give
(a) Bills retained during the year (b) cash received from Debtors
(c) Closing balance of bills receivable (d) Cash paid to creditors
95. Statement of affairs is generally prepared to find out the of the business
(a) Profitorloss (b) Financial position (c) Capital (d) Arithmetical accuracy
96. Closing Capital + Drawings - Additional Capital =
(a) Adjusted Opening Capital (b) Opening Capital

Kindly Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www. TrbTnpsc.com

(c) Profit or Loss (d) Adjusted Closing Capital
97. Match the following:
(i) Statement of affairs (1) calculate credit sales
(ii) Single Entry (2) Calculate credit purchase
(iii) Sundry Debtors (3) Calculate the capital
(iv) Sundry creditors (4) Unscientific System
@ () (i) (i) (iv) () ) (i) (i) (iv)
3 4 1 2 1 2 3 4
© @ i)y (i) (iv) @ @ (i) (i) (iv)
3 4 2 1 4 3 2 1
. Match the following

(i) Cash received (1) not entered in Single Entry System o
(ii) Total sales (2) Assets - liabilities ®
(iii) Depreciation (3) Cash Account ‘

(iv) Sundry creditors (4) Unscientific System
@ @& ) (i) (i) () @ (||) (|||) 4@
1 2 3 4 1
(©) (i) (i) (i) (iV) (d) (i) (") ("I)
3 2 Q‘

99. Assertlon Bill receivable enclosed are debited to Credltor Account
Reason: Bills receivable received from Debtors is credited to Debtors A/%
correct

(a) Both (A) and (R) are correct (b) (A) is correct ;@R
(c) Both are incorrect (d) (A) is incogrect aRd (R) is correct

100. Which of the following items relating to bills payable is trans%(;t(.) Total creditors account?
(b) Opening balance of bills payable ( balance of bills payable

(c) Bills payable accepted during the year  (d) Cash pa fo bills payable
XI1 ACCOUNTANCY - UNIT - 02-1SQ 66 X 1 =66

1. Receipts and payments account is a @
(@) Nominal A/c  (b) Real Alc  (c) Persw(d) hepresentative personal account

2. Receipts and payments account records receip ayments of

(a) Revenue nature only () Capital nature only

(c) Both revenue and capital nature d zne/of the above
Balance of receipts and payments ditates the

(&) Loss incurred during the pe o(b) Excess of income over expenditure of the period

(c) Total cash payments du period (d) Cash and bank balance as on the date
Income and expenditure account is

(@) Nominal A/c  «b éb]ﬁ/c (c) Personal A/c(d) Representative personal account
Income and Expenditur t is prepared to find out

(@) Profit or loss h and bank balance (c) Surplus or deficit ~ (d) Financial position
Which of the foll siould not be recorded in the income and expenditure account?

(@) Sale of Spapers (b) Loss on sale of asset

(c) Hon mpaid to the secretary (d) Sale proceeds of furniture
Subsc 'pt n ut not received for the current year is

(b) A liability  (c) An expense (d) An item to be ignored

evenue expenditure  (b) Capital expenditure (c) Revenue receipt (d) Capital receipt
tions received for a specific purpose is
(a) Revenue receipt(b) Capital receipt (c) Revenue expenditure (d) Capital expenditure
. There are 500 members in a club each paying Rs. 100 as annual subscription. Subscription due but not received
for the current year is Rs. 200; Subscription received in advance is Rs. 300.Find out the amount of subscription
to be shown in the income and expenditure account
(@) Rs. 50,000 (b) Rs. 50,200 (c) Rs. 49,900 (d) Rs. 49,800
. An advance receipt of subscription from a member of the non - profit organization is considered as an
(a) Expense (b) Liability  (c) Equity (d) Asset
. Income and Expenditure account is based on
(a) Cash accounting (b) Government accounting
(c) Management accounting (d) Accrual accounting
. Which of the following is to be recorded in an income and expenditure account?
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(a) Purchase of a fixed asset (b) Capital expenditure incurred on a fixed asset
(c) Profit on the sale of a fixed asset (d) Sale of a fixed asset
. Subscription received but not yet earned is considered as a /an
(@) Asset (b) Liability  (c) Income (d) Expenditure
. Rs. 10,000 received as to annual membership subscription. Out of this Rs. 2,000 is pertaining to the previous
accounting period whereas Rs. 1000 is receivable at the end of the current accounting period. Calculate the
amount of subscription that will be shown in the income and expenditure account for this accounting.
(@) Rs. 10,000 (b) Rs. 9,000 (c) Rs. 12,000 (d) Rs. 8,000
. Income and Expenditure accounts show
() cash available to an organization (b) dosing capital of an organization
(c) cash available in the bank account (d) surplus or deficit for the current accounting period.
. On what basis the receipts and payments account is prepared? . o

(@) Cash basis (b) Credit basis (c) Both (d) None of these
. The amount or property received by a non - profit organization as stated by the will of a defrease son is

commonly referred to as
(a) Donation (b) Honorarium (c) Legacy (d) Endowment
. In non - profit organization, the sale of old newspapers is generally considered as n
(a) Revenue receipt(b) Expenditure (c) Income (d) Capital receipt
. Some organisations are established for the purpose of rending services to the public lthout
(@) any profit motive (b) any service motive (c) bot d) none of these
. Charitable institutions and educational institutions are the examples g
() profit organisation (b) not-for-profit organisation ,é

oth (d) none of these
. If the donation is received without any specific condition, then it is @ )
w\ fond

(a) general donation (b) specific donation  (c)d (d) none of these
. Capital fund also called as N
(a) accumulated fund (b) special fund (c) donatio an ) (d) none of these
. Which of the following is generally considered as a non-profit &rganisation?
(a) Charitable organisation (b) Corporation (c) udltfw;ns (d) Insurance companies
. The receipts and payments account of a non-profi ation is a

(a) Nominal account Real account
(c) Income statement account g ( (8)Financial statement
fol

. Non- profit organizations prepare all of Wi ing accounts except the
(2) Receipts and Payments accgunts(B)=kaCome and Expenditure accounts
(c) Balance sheet (d) Income statement
. Expenditures greater than inco "mon profit organization give rise to a
(@) Loss (b) Profit (ch\Surplus (d) Deficit
. Rent expenses of a non- pro anization paid in advance. Which of the following is the correct classification
of rent
@) Expense L bilities  (c) Equity (d) Asset
. Receipts and Pay unts isa___accountin nature.
@) rea naI (c) nominal (d) all of these
|te recorded in income and expenditure account
(b) Nominal  (c) Expense (d) Revenue
WI|| be recorded in the balance sheet
(a enue (b) Capital (c) Expense (d) None of these
re the amounts received by not for- profit organisations as a gift
a Legacy (b) Donations  (c) Subscription (d) Entrance fee
33. ft made to a not-for-profit organization by a will, is called
(a) Subscription  (b) Life membership fee(c) Legacy (d) Donations
34. is a fee collection from every member only once at the time of his or her admission into the
organisation.
(@) Entrance fee  (b) Legacy (c) Donations  (d) None of these
35. is the remuneration paid to a person who is not a regular employee of the organization
(a) Purchase of sports materials (b) Purchase of sports equipment
(c) Honorarium (d) Legacy
is a revenue expenditure
(a) Specific donation (b) Honorarium (c) Legacy (d) Interest on investment
is prepared to find out the surplus or deficit pertaining to a particular year.
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(@) Income and Expenditure account (b) Receipts and Payment account
(c) Trading and Profit and loss account (d) Balance sheet
. List1  Listll
Q) Subscription
(i) Investments
(iii)  Old sports materials
(iv)  Admission fee

@ @ ()
1 2

© O (i
2 3

List Il

Subscription . Revenue expenditure
Life membership fee : Capital expenditure
Honorarium . Capital receipts
Purchase of sports equipment 4. Revenue receipts

@ @ G (i vy () @) () (i)
1 2 3 2 3 4
© @ () (i) (i (d) (i) (ii) (iii)

1 4 2

. State the primary motive of not for proflt organisation %ﬁ

(a) Producing good (b) Provide service (c) Both (;0) ese
. State the nature of life membership subscription

(a) Cash payments (b) Cash receipts (c) Capital Re&{ y (d) None of these
. Which basis Receipt and payment Account is prepared?

(a) Cash basis (b) Credit basis (c) Accrual'Basts (d) None of these
. Classify the subscription received during the year of not for profit organisation.

(a) Capital Receipt (b) Capital expenditure (c) Revenue Receipt  (d) both
. State the nature of Receipt and Payment A/c for it organisation?

(a) Real Account (b) Personal A/ N cYNominal A/c  (d) Representative personal A/c
. Subscription received in advance is an i r 4 liability .

(@) An asset (b) Inco ) > (c) A liability (d) Expenditure

. Not-for-profit organisation prepare =
(@) Income and Expenditure A&nto (b) Trading and Profit and loss Account
(c) Only the Trading Accol N\’ (d) Cash Budget
. The Receipts and Payment accountNs a summary of
(a) Debit and Creditba of Ledger Account  (b) Cash receipts and payments
(c) Income and Exp (d) Balance Sheet
. Subscription receive&r ance by a club are shown
d

Balls, bats

Time of admission
Receive interest
Tennis or billiards

(iv) (& (@) () (i)
4 4 3 1
@ @O Gy (i)
2 3 4

ch:h_oo[\)g—\

I

(@) Onthecr f the Income and Expenditure A/c
(b) On the %n e of the Balance sheet
(c) On th&%i ies side of the Balance sheet
%ge it side of the Income & Expenses Alc
49. i ived for a special purpose are a
i (b) Revenue Receipt  (c) Capital Receipt (d) capital reserve

5Q7 The Receipts and Payment A/c is a
af Nominal Account (b) Real Account (c) Personal Account  (d) None of these

51. Income and Expenditure Account reveals
(@) Cashinhand (b) Surplus or deficiency (c) Capital Alc (d) Reserve
52. Subscription received in advance during the current year is
(d) anincome (b) an asset (c) a liabilities (d) none of these
53. If there is "Match Fund" then match expenses and incomes one transferred to
(&) Income and Expenditure A/c (b) Assets side of B/S
(c) Liabilities side of Balance sheet (d) Both Income and Expenditure A/c and Balance Sheet
54. (a) Sale of old newspapers 1. Opening Asset - Opening liabilities
(b) Legacy 2.Gift
(c) Donations 3. Capital receipt
(d) Capital fund 4. Revenue receipt
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(@)
(©)

. (a) Subscription
(b) Honorarium
(c) Life membership fees
(d) Purchase of library books

www. TrbTnpsc.com

(b)
(d)

. Capital Receipt

. Capital expenditure
3. Revenue expenditure
4. Revenue Receipt

@) a b d (b) a b
4 3 2 1 2
(©) a b d (d) None of these
2 1 4
. Assertion : Life membership fee : Amount received towards life membership fee from the m i a'c'a})ital
Receipt.
Reason : It is non-recurring nature
(a) Assertion & Reason is correct (b) Assertion is incorrect Rease is correct
(c) Assertion is correct (d) Both are incorrect. K?M Y
. Specific Donation: Assertion: Donation is received with a specific condition faf a p?‘i ars Purpose like sports
fluid is a specific donation. </
Reason: It is a capital Receipt.
(a)Assertion & Reason is incorrect (b) Asserti &%asen’\s correct
(c) Assertion is correct & Reason is incorrect (d) Assertio;@]c & Reason is correct
. Identify wrong statement about Entrance fees. 4 /\
(a) Is a amount paid by a person at the time of becoming a mer& ( y
(b) Is a income of Not-for-profit organisation N
(c) It is a revenue receipt of organisation \ )
(d) Is debited to Income and expenditure Account d
. Choose the incorrect pair.

*

(a) Sale of old sports materials - Capital receipt fal donation - Revenue receipt
(c) Subscription for billiards - Revenue receipt Specific donation Capital receipt

ends with closing balances of cash and

. Assertion (A) : The receipts and payme@ ug egins with tile "'opening balances of cash and bank and
nk.
Reason (R) : Non-cash items such $p i

at)on, outstanding expenses and accrued income are shown in
[}
isthe correct explanation of (A)
Is not the correct explanation of (A)

receipts and payments account.
() Both (A) and (R) are true,
(b) Both (A) and (R) are true, and
(c) (A) is true but (R) isfals
(d) (A) is false but (R) i

. Assertion (A): Life
Reason (R): Admisgi

ip fee is nonrecurring in nature.
is a fee collected from every member only once at the time of his or her Admission

into the organi
(a) Both (A) A%R are true and (R) is the correct explanation of (A)
(b) B ) are true and (R) is not the correct explanation of (A)
) {s triesbut (R) is false.
Ise but (R) is true.
627 Specific fund is to be shown on the liabilities side and specific fund investments account is to be shown on the
sSide of the balance sheet.
iIncomes and expenses relating to the specific fund account should not be recorded in income and
expenditure account.
(iii) Balance sheet is a statement showing the financial position of an organisation.
(@) (i) is correct (b) (ii) is correct
(c) (i) and (ii) are correct (d) (i), (ii) and (iii) are correct
63. Capital fund also called as general fund or accumulated fund is taken to the assets side.
(i) The total of debit balances will be equal to the total of credit balances.
(iii) Revenues, gains and liabilities will have credit balance.
(@) (i) is correct (b) (i) and (iii) are correct
(c) (ii) is correct (d) (1), (ii) and (iii) are correct
64. Find out the wrong pair
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@) Not-for-profit organisation - Educational institutions
(b) Receipts and payment accounts - Real account
(c) Income and expenditure account- Indian companies Act 2013
(d) Balance sheet - Schedule IV
. Find out the wrong pair
@ Subscription Revenue receipts
(b) Dividend Revenue payments
(c) Legacies Capital receipts
(d) Rent paid Revenue payments
. Find out the wrong pair
@) Entrance fees - Capital payments

(b) Sale of fixed assets - Revenue receipts o
(©) Entertainment expenses - Revenue payments ®
(d) Investment - Capital receipts
XI1 ACCOUNTANCY - UNIT - 03-1SQ 57 X 1= 57
01. The name under which the business of a firm is carried on is called the

(a) Company name (b) Firm name (c) Partnership firm (d) Partner's na A‘y
02. The profit or loss arising from the partnership business is shared by the partners in.the

(a) old ratio (b) new ratio (c) agreed ratio (d) sacrifice ra
03. In India, partnership firms are governed by the Indian partnership Act

(a) 1932 (b) 1930 (c) 1992 (d) 1986 §
04. The maximum number of partners in a partnership firm is ,C

(a) 25 (b) 10 (c) 30 (d) 50 )
05. In sole proprietorship, the profit or loss in the profit and loss accouwapﬁgrred directly to the sole proprietor's

(a) drawings account  (b) capital account (c) loan m ) (d) salary account
06. The balance in the appropriation account is transferred to the partnef's capital account in the

(2) agree ratio (b) sacrifice ratio (c) ofit.waring ratio (d) old ratio
07. Capital account balance of the sole proprietor alone a in the balance sheet of

(a) Sole proprietorship (b) Partnership Joint Hindu family (d) Company
08. Amount invested by partners in the partnershj u@ess s called

(a) Owner's capital (b) Partner's capital '(f:) Profit and loss appropriation (d) None of these
09. Which of the following method, the capital o egartners is not altered and it remains generally fixed?

(a) Fixed capital method(b) Fluctuating capital method (c) Both 'a'and 'b' (d) None of these
10. All the transactions between the p d’the firm are recorded in the

(a) capital account (b) drawings account  (c) profit and loss account (d) revaluation account
11. The rate of interest on caplta¢ is aIIy agreed by the partners and is mentioned in the

(a) capital account and loss account (c) partnership deed (d) none of these
12. Interest on capital isto b on the capitals at the beginning for the

(@) particular perl re evant period (c) average period (d) all of these
13. Period of interest re e period from the date of drawings to the closing date of the

(a) opening (b) closing year (c) previous year (d) accounting year

h be used in all situations as an alternative to
(b) direct method (c) both 'a"and 'b’ (d) none of these
15. The person 0 entered into partnership are collectively known as
) Partn rs (b) Owners (c) Firm (d) Organisation
16. In ershlp business, agreement is
ompulsory (b) optional (c) not necessary (d) none of these

17. Interest on capital is calculated on the

(a) Opening capital (b) Closing capital (c) Average capital (d) None of these
18. Current accounts for partners will be opened under,

(a) Fixed capital method

(b) Fluctuating capital method

(c) Either fixed capital method or fluctuating capital method (d) None of these
19. X and Yare partners sharing the profits and losses in the ratio of 2:3 with capitals of Rs. 1,20,000 and Rs. 60,000
respectively. Profits for the year are Rs. 9,000. If the partnership deed is silent as to interest on capital. Show how profit
is shared among X and Y

(@) Profit X - Rs. 6,000; Y - Rs. 3,000 (b) Profit X - Rs. 3,600; Y - Rs. 5,400
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(c) Profit X - Rs. 3,000; Y - Rs. 6,000 (d) Profit X - Rs. 2,000; Y - Rs. 2,600
20. Under fixed capital method salary payable to a partner is recorded
(@) in current account (b) in capital account
(c) either in current account or capital account  (d) none of these
21. If a firm is maintaining both 'capital accounts' and 'current accounts' of the partners A and B. Additional capital
introduced by B will be recorded in
() B's Current Account (b) B's Capital Account (c) A'sCapital Account (d) A'sCurrent Account
22. Amount is drawn regularly at the middle of every month during the year. Interest calculated for
(a) 13/24 (b) 11/24 (c) 12/24 (d) 10/24
23. In the absence of any specific agreement partner's loan to the firm will carry an interest of
(a) 6% (b) 10%(c) 12%(d) 10%
24. Amount is drawn regularly at the end of every month during the year, interest is calculated for o
(a) 11/24 months (b) 12/24 months (c) 13/24 months (d) 6/24 months ®
erest

25. When a fixed amount is withdrawn in the beginning of every month the period calculated for i rawings is

List I List Il
Q) Partnership Act 1. 2013
(i) Agreement 2. 50
(iii) Indian companies Act 3. Oral or written ° )
(iv) Maximum Number 4, 1932 )

@ @O @@ i) v b @ ) G pv)
2 4 1 2 X‘) V4

(a) 11/24 (b) 12/24 (c) 13/24 (d) 10/24
26. Match List I with List 1l and Select the Correct Answer using the Codes given below x Y
)

3 1

(©) (i) (i) (i) (iV) @@ @O i W (iv)
3 1 3 M 1

27. Match List | wrth List Il and Select the Correct Answer using the Cédes given below
List I
Remuneration to partners 1.

Profit Sharing ratio 2.

Interest on capital ( Section 13(b)

Interest on loan 4. ectu)n‘f3(a)

(i) (ii) (iii) (NS (i) (i) (i) (iv)

1 4 3 2 1
’(d)

(c) (i) (ii) (iii) \\ (i) @iy (i) (iv)
1 1 4 3
28. isa form of organl where two or more persons carryon some business acting on the basis of

agreement among them.

(a) Partnership firm g e proprretorshlp (c) Joint Hindu Family (d) Company

29. isado writing that contains the terms of the agreement among the partners.
(a) Partnership (b) Partnership at will (c) Both 'a" and 'b’ (d) None of these
30. Capital account s show credit balance under method.
(a) Pa r ent account (b) Partner’s capital account
(c) Bot a (d) None of these
31. thod only capital account is maintained for each partner
) Fixed capital (b) Fluctuating capital (c) Both 'a"and 'b' (d) None of these
32. is the interest allowed on capital of the partners.
(@ Thterest on drawings (b) Interest on capital (c) Both 'a"and 'b' (d) None of these
33. can be computed by direct method or product method.
(a) Interest on drawings (b) Interest on capital  (c) Partners salary (d) Partner's commission
34. intervals refers to withdrawal made monthly, quarterly, half-yearly, once in 2 months and once in 4
months.
(a) Fixed time (b) Current time(c) Average time (d) None of these
35. Profit and loss appropriation account is account in nature.
(@) real (b) nominal (c) personal (d) none of these
36. is a type of partnership in which the liability of the partners is limited to the extent of their capital
contribution.
(a) Limited liability partnership (b) Limited assets (c) Partnership deed (d) None of these
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37. Under fluctuating capital method, profit or loss in a year, will be transferred to the respective
accounts.
(a) capital (b) profit and loss (c) drawings (d) none of these
38. Under capital arrangement, current accounts will not be maintained.
(a) Fixed (b) Fluctuating (c) Both 'a"and 'b' (d) None of these
39. The debit balance of the current account, will be shown in the side of the balance sheet.
(2) liabilities  (b) assets (c) debit (d) credits
40. Interest on partner's capital is allowed, only when the specifically provides for i
(a) partnership Act (b) partnership agreement (c) both 'a"and 'b' (d) none of these
41. can be formed only for a legal business.
(a) Sole trader (b) Co-operative societies (c) Partnership (d) None of these
42. Indian partnership Act was enacted in the year . o

(a) keep changing (b) remain fixed(c) both are possible  (d) none of these
44. under fluctuating capital systems, the capitals of the partners year after years. &
Y

(a) 1932 (b) 1956 (c) 1991 (d) 1992
43. Under fixed capital system, the capitals of the partners years after year. ‘
(a) keep changing (b) remain fixed(c) Both are possible  (d) Both are impos Q
45. Under fluctuating capital systems, the partners accounts are opened. \
(@) current (b) drawing (c) capital (d) loa
46. Under fixed capital system, the profit and loss of partners will be transferred their accounts.
(@) current (b) drawings (c) both @
47. Interest on capital is calculated as the
() Opening capital (b) Closing capital (c) Both }d) Drawings
48. is an extension of Profit and loss account.
(a) Balance sheet (b) Profit and loss appropriation accounm Both (d) Cash Alc
49. The persons who have entered into partnership are collectively 0\ as
(a) Partnership (b) partners (c) firm (d) company
50. Name the method of calculating interest are drawings of the pantner of different accounts, are withdrawn as
different dates.
(a) Direct method (b) Product method AWerage period method (d) Annuity method
51. Which of the following items does not appe profit and loss Appropriation Accounts?
(a) Salaries to partners b) In}efst on capital
(c) Interest on drawings DPfawings
52. Under fixed capital method, partner's saldiy, commission and interest on capital will be credited in ____
(a) Drawings Account pital Account (c) Current Account  (d) Loan Account
53. (i) The sole proprietorship has its limitations such as limited capital, limited managerial ability and limited risk -
bearing capacity. . Cb‘
(ii) The sole proprietorshi ts limitations such as Unlimited capital, Unlimited managerial ability and
Unlimited risk - bearing capa %
(iii)The Partnershij &1
risk - bearing capacity %
@) (i) is corr@& (b) (i) and (ii) are correct
(c) (i n%are correct (d) (1), (ii) and (iii) are correct
54. (i) An j i rtner pays his share of good will in cash, and profit sharing ration of old partner is changed,

Good - will be ibuted among old partners According to new ration.
i) Any partner who investments in the business but does not take active part in the businesses Secret partner.
them acti

y

limitations such as Unlimited capital, Unlimited managerial ability and Unlimited

he relation between persons who have agreed to share the profits of a business carried on by all or any of
for all.

(a) (i) and (ii) are correct (b) (iii) is correct

(c) (i) and (iii) are correct (d) (i), (it) and (iii) are correct
55. (i) Any partner who investments in the business but does not take active part in the business is Nominal partner.

(ii) The capital account will continue to show the same balance from year to year unless some amount of capital
is introduced or withdrawn.

(iii) In the absence of an agreement, Interest on loan advanced by the partner to the firm is allowed at the rate of
7%.

(a) (i) and (iii) are correct (b) (i) and (ii) are correct

(c) (ii) is correct (d) (1), (ii) and (iii) are correct
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56. (i) On the retirement of a partner any reserve being should be transferred to the capital account of Neither the
retiring partner, nor the remaining partner

(i) Amount due to outgoing partner is shown

(iii) A partnership firm, the net profit as shown by the Profit and Loss Account need certain adjustments with
regard to interest on capitals, interest on drawings, salary in the balance sheet as his Liability

(@) (ii) and (iii) are correct (b) (i) and (ii) are correct

(c) (i), (it) and (iii) are correct (d) (iii) is correct
57. (i) Current accounts of the partners should be opened when the capitals are Either fixed or fluctuating.

(ii) Goodwill is the present value of a firm's anticipated excess earnings in future and the efforts had already
made in the past.

(iii) Any partner who investments 'in the business but does not take active part in the business is Nominal

partner o
(@) (ii) and (iii) are correct (b) (i) and (ii) are correct ®
(c) (ii) is correct (d) (i), (ii) and (iii) are correct.
XI1 ACCOUNTANCY - UNIT - 04- 1SQ 53 X 1=53

Which is the present value of a firm's future excess earnings?

(a) Fixed asset (b) Current assets (c) Good will  (d) None of the Y
Goodwill is shown under fixed assets in the \

(@) Trial balance (b) Balance sheet (c) Trading account (d) P@ loss account
The monetary value of such advantage is termed as

(@) Goodwill (b) Bank overdraft (c) Capital (d) as%.')
Goodwill helps in earning more profit and attracts more <| )
(a) customers (b) producers  (c) competitors (d) suppliersg, /\
The profit earning capacity of the firm determines the value of Yy
(a) balance sheet (b) goodwill  (c) profit and los ottty (d) all of these
Goodwill acquired by making payment in cash or kind is cal ]
(a) Purchased goodwill (b) Self-generated goodwill > (c) Average goodwill  (d) 'a’ and 'b’
Which of the following method, goodwill is calculat by.nqltiplying the weighted average profit?
(@) Super profit method  (b) Annuity ighted average profit method (d) All of these
Self- generated goodwill should not be shown j

() journal (b) ledger QO nce’sheet (d) books of accounts

The total capitalised value of the business is caycﬁfated by capitalising the average profits on the basis of

() average profit (b) normal% ofereturn(c) actual capital employed (d) none of these

. Goodwill is to be valued when
(a) amalgamation takes zlace (b) a partner is admitted

(c) one company takes
. Goodwill is paid for obtai

(@) future profit sent benefit (c) past benefit (d) none of the above
. Super profit is

() excess e profit over normal profit (b) extra profit earned

(c) averang earned by similar companies (d) none of the above

nother company (d) all of the above

% profit earned (b) profit earned by similar companies in the same industry
(d) none of the above
147 Goodwill as per purchase of average profit method is equal to
af Average profit (b) Average profit x Amount of purchases
(c) Average profit x Number of years purchases (d) All of the above
15. The company earns a net profit of Rs. 24,000 with a capital of Rs. 1,20,000. The NRR is 10% under
capitalisation of super profit goodwill will be
(a) Rs. 70,000 (b) Rs. 24,000 (c) Rs. 12,000 (d) Rs. 1,20,000
16. Average Capital employed Rs. 4,00,000;Net profit 2011 2,50,000;2012 1,00,00(Loss);2013;4,50,000;N R R
10%;Goodwill at 3 years purchase of super profit will be
(@) Rs.1,80,000 (b)Rs. 90,000 (c) Rs. 1,50,000(d) Rs. 1,20,000
17. Rate of interest is 11% and the rate of risk is 9% The normal rate of return is
(@ 11% (b) 9% (c) 20% (d) 2%
18. is the good name or reputation of the business which brings benefit to the business
(@) Goodwill (b) Fixed asset (c) Current asset (d) None of these
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Cannot be seen or touched.
(@) Computer (b) Machinery (c) Goodwill (d) All of these
method, goodwill is calculated by multiplying the average profits by a certain number of years of
purchase.
(a) Weighted average profit(b) Super profit (c) Annuity (d) Simple average profit
method, goodwill is calculated as certain years of purchase of average profits of the past few years.
(a) Simple average method (b) Average profit method
(c) Super profit method (d) Annuity method
is the excess of average profit over the normal profit of a business.
(@) Average profit (b) Super profit (c) Annuity method (d) None of these
is the profit earned by the similar business firms under normal conditions
(@) Normal profit (b) Super profit (c) Average profit (d) All of these
method, goodwill is the excess of capitalised value of average profit of the busine

(d) Rs. 10,000

(d) none of these

(d) None of these

anloyed in the business.
(a) Tangible trading assets shoumdered
. Average profit is 19,167 and normal profit is 10,000 s supey profit is
(a) agoing concern

(a) Capitalisation (b) Super profit (c) Weighted average profit (d)
refers to series of uniform cash flows at regular intervals.

(a) Cash flow (b) Funds flow (c) Annuity d)Wo /af these

(d) all"ef thg above
!

(b) Intangible assets should be considered ,C

(c) Fictitious assets should be considered 4 /\

(d) None of the above

(@) Rs. 9,167 (b) Rs. 29,167
. Goodwillhas __ Value

(a) realisable (b) fictitious C ( (8)both

(c) Fictitious
ssumptlon that the company is
?(b) going to be liquidated

(c) both 'a' and 'b'
. List 1 '
i) Goodwill

. Goodwill is
(@) an intangible asset (b) a fixed asset (c) realisable
. Capital employed at the end the year is Rs. 74,20,000 proﬁ@%&s’. 20,000. Average capital employed
is )
. Goodwill is not a asset
(@) Fixed (b) Curren
i) Fictitious ass
iii) Purchase
iv) Sup
@ () ("I)

. While calculating capital employed
(@ Rs. 4,é0,000 (b) Rs. 4,60,000(c) Rs. 4,40,000 (d) R\s./4,00,000
. Net asset value method is based on
) (OQ(H) (iii)
3 4

34 Dist | List 11
'Average profit method
i Weighted average profit method 2.

iii) Super profit method
iv) Annuity method
@ @& ) @Gi)y (i)
1 2 3 4
© @ ) (@i) (i)
2 3 4 1
35. Goodwill is valued under
(a) Average profit method
(c) Capitalisation method

(d) none of the above
List 1
Excess of EM.P over normal profit
Accounted in the books of accounts
Intangible having no realisable value
An intangible asset
() () @iy (i) (iv)
1 2 3 4
C)() @iy (i) (iv)
3 4 1 2

1. Excess of average profit
Present value of annuity
3. Increase or decrease trend
4. Past few years
() () (i) (i) (iv)

4 3 1 2
@ ) @iy @) (iv)

3 4 2 1

(b) Super profit method
(d) All of these

36. Average profit method can be further divided
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(a) Simple average profit (b) Weighted Average profit
(c) Both (a) and (b) (d) None of these
. Super profit is
(a) Average profit - Normal profit (b) Normal profit - Average profit
(c) Both (a) and (b) (d) None of these
. Kinds of Goodwill
(a) Purchased Goodwill (b) Self-generated Goodwill
(c) None of these (d) Both (a) and (b)
. Nature of Good will is
(a) Reputation of business firm (b) Profit of firm
(c) Total Asset of firm (d) None of these
. Factors of Good will is o
(a) Location of the business (b) Efficient management ®
(c) Nature of the goods (d) All of these
. Goodwill of the firm in the basis of 2 years purchase of average profit of the last 5 yeayQ 25,000 find

average profit
(@) Rs. 50,000 (b) Rs. 25,000 (c) Rs. 10,000 (d) Rs. é@%’ Y
. Calculate the value of Goodwill at 3 years purchase rvhen capital employed R 5@‘0 Average profit <

30000 and normal rate of return is 10%.

(a) 3,000 (b) Rs.25,000 (c) Rs.30,000 d) Rs.15/000
. Adjusted profit = Actual profit ,C g

(a) +Past expenses not required in required in the future
(b) - Past revenue. not likely to be reached in the future. S/
(c) + Additional income. expected in the future \ ( y
(d) All of these

. Select the odd one out %\.\ )
(a) Fixed capital method (b) Average profit method
(c) Super Profit method (d) apltahrsatlon method

. Goodwill which cannot be recorded in the books
(@) Self-generated goodwill

(c) Purchased goodwill (8)'None of these
. (i)Goodwill is shown under fixed assetsjn the) Alance sheet

(ii) Goodwill is an intangible asset. =
(iii) Goodwill helps in earning more\pkofitand attracts more customers.

(@) (i)iscorrect (b) (ii ot (c) (i) and (ii) are correct (d) (i), (ii) and (iii) are correct
. (ii) Weighted average profit method, goodwill is calculated by multiplying the weighted average profit by a
certain number of years of se.

(iii) Normal profit = Capi loyed x Fixed assets
(i) Goodwill acquir&@a g payment in cash or kind is called acquired or purchased goodwill.

@) (i) is corr (b) (i) and (ii) are correct
(b) (c) (ii) i)’are correct (d) (i), (ii) and (iii) are correct
. Assertion (A “Goodwill is the good name or reputation of the business which brings benefit to the business.
Reaso ( is an intangible asset as it has no physical existence.
) and (R) are true and (R) is the correct explanation of (A)
h (A) and (R) are true and (R) is not the correct explanation of (A).

(c (A) is true, but (R) is false
(A) is false, but (R) is true
49. ertion (a): The Profit earring capacity of the firm determines the value of its goodwill
Reason (R): Goodwill acquired by making payment in cash or kind is called acquired or purchased goodwill.
(a) Both (A) and (R) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(c) (A)istrue, but (R) is false
(d) (A) is false, but (R) is true
50. Find out the wrong pair
a) Average profit - Total profit Number of years
b) Goodwill - Average profit x Number of years of purchase
Weighted average profit- Total of weighted profits Total of weights
Normal profit - Capital employed x Average profit
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51. Find out the wrong pair
a) Capital - Goodwill + current liabilities
b) Super profit - Average profit - Normal profit
C) Annuity factor - i(1+1)n/(1+i)n—1
d) Goodwill - super profit Normal rate of return
52. Find the odd one out
(a) Profitability of the firm (b) Degree of competition
(c)Efficiency of management (d) Lack of uniformity
53. Find the odd one out
(@) Awverage profit method (b) Straight line method
(c) Super profit (d) Capitalisation method.

XI1 ACCOUNTANCY - UNIT - 05- 1SQ 86 X 1=286

1. A account is opened to record the increase or decrease in assets and liabilities
(a) Capital (b) Partners (c) Revaluation (d) None of these

2. The old partners share all the accumulated profits and reserve in their
(@) new profit sharing ratio (b) old profit sharing ratio x

(c) capital ratio (d) sacrificing ratio Y

Old ratio of profit minus sacrifice ratio will be N
(a) New ratio (b) OId profit sharing ratio (c) Sacrifice ratio d) None of these

An incoming parent pays his share of goodwill in cash, and profit sharingyratio of old partner is changed,
Goodwill be distributed among old partners.
(a) As their old profit ratio (b) According to new rat

(c) According to sacrificing ratio (d) None of thes
Goodwill of the firm is valued Rs. 30,000. C an incoming partr&urchase Y4 share of total profit Goodwill be
raised in the books.
(@) Rs. 30,000 (b) Rs. 7,500  (c) Rs. 1,20,000 (d) Rs.74000
The reconstitution of the partnership requires a revision of the ”” of the existing partners.
(&) Profit sharing ratio (b) Capital ratio (c) cri[iaipg ratio (d) Gaining ratio
The difference between old profit sharing ratio al rofit sharing ratio at time of admission is
ratio.
() old ratio (b) new ratio aGIfIC ratio (d) gain ratio
is created out of profit to adjustthe re)dd/ ction in the market value of the investments.
(@) Invest fluctuation fund (b) Capital fund
(c) Fixed capital method ° (d) Fluctuating capital fund
At the time admission of a new Goodwill
(a) Belongs to all partners, newand old
(b) Belongs only to the artners who is going to be admitted
(c) Belongs only to artner who have credited it

(d) None of thes
. List I K List 11
i) Revaluation %ﬂ 1. Credit side
i) Unrecord 2. Debit side

||| ec I|ab|I|ty 3. Revaluation account
e o um revaluation account 4. Nominal account

a) (||) @iy (iv) (b) (i) (i) (iii)

1 2 1 2 3
(l) (") (i)~ (iv) @ @ Gy (i)
2 3 4 1 4 1 2

11. A person may join as a new partner in an existing
(a) Partnership firm (b) Sole proprietorship
(c) Hindu undivided Family (d) None of these
12. Persons who have entered into partnership with one another are individually called
(a) Partners (b) Directors (c) Sole trader (d) All of these
13. When A and B sharing profits and losses in the ratio of 3:2, they admit C as a partner giving him 1/3 share of
profits. This will 'be given by A and B.
(a) Equality (b) In the ratio of their capitals
(c) In the ratio of their profits (d) None of these
14. On which reason(s) for revaluation of assets and liabilities are
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(a) To give atrue and fair view of the state of affairs of the firm
(b) To share the gain arising from the revaluation of assets and liabilities as it is due to the old partners
(c) Both (a) & (b
d) None of the above
. Net profit ratio is calculated at the time of admission by dedicating

(a) Sacrifice from the old ratio (b) Old ratio from the Sacrifice
(c) Sacrifice from the new ratio (d) Old ratio from new ratio

16. ratio is the agreed proportion in which future profit will be distributed to all the partners including

the new partner.

(@) Old profit (b) New profits sharing (c) Sacrifice  (d) None of these

17. is computed at the time of admission of a new partner.

(a) Gaining ratio (b) Capital ratio (c) Sacrificing ratio (d) New ratio o
18. The balance of revaluation account shows on revaluation. ®
() Profit (b) Loss (c) Profit and loss (d) None of these ‘

19. In the revaluation account an increase in the value of land and building
(a) Debit side (b) Credit side Q

(c) Credit side of goodwill A/c (d) Does not appear at all

4
20. When a new partner brings his share of goodwill in cash the amount is debitedg0 ~‘ .
(@) Premium A/c (b) Cash Alc

(c) Capital A/c of old partner (d) Capital A/c of new partner
21. On admission of a partner if goodwill account is to be raised this should %b&te’d to
yol
) g
y

(a) Partner's capital account(b) Partner's capital account
(c) Revaluation account (d) None of these
22. In admission undistributed profit or loss is transferred to S 4
(a) New partner's capital A/c only (b) OId ital A/c only
(c) All the partner's capital accounts (d) None of'these
23. How many ways in which the revaluation of assets and liabiliti&s may be dead with in a accounts?
(@ 1 (b)5 (c)3 (dyr2
24. Revaluation account is a account
@) real (b) nominal (c) pe | Y (d) capital
25. In partnership accounting, capital accou r r'?) red under following method
(@) Fluctuating b) Fixe
(c) Both (a) & (b) NOne of these
26. At the time of admission of a new %er,o profit ratio should be find out.
(@) old (b) ne QtW(a) and (b) (d) none of these
27. When an unrecorded liabilities is brgught into books, is results in
(@) profit (c) income (d) expense
28. Introduction of a new p.
(b) Fresh ideas and more contacts
(c) Obtaining kifled and reputable person (d) All of the above
29. When a new past dmitted under bonus method capital method of the firm increase by
(@) the (b) less than the new investment
(c)}z (d) More than the new investment
30. In the revalOation account a decrease in the value of plant and machinery
it side (b) Credit side
(cl Debit side of goodwill A/c (d) Does not appear at all
31% e time of admission an incoming partner contributes as goodwill
(@) Incash (b) Does not pay cash
(c) May or may not pay cash for goodwill  (d) None of these
32. ratio is the proportion of the profit which is sacrificed or foregone by the old partners in favour of the
new partner.
(@ Old (b) New (c) Sacrifice  (d) Agreed
33. Goodwill already appearing in the balance sheet at the time of a partner is transformed to
(a) New partner's capital Alc (b) Old partner's capital A/c
(c) Revaluation Alc (d) None of the above
34. Value of goodwill will agreed upon Rs. 30,000 on C. S admission and allowing him ¥ share of total profit
Goodwill is brought is cash, the amount of goodwill will be as
(@) Rs. 30,000 (b) Rs. 7,500 (c) Rs. 1,50,000(d) Rs. 1,20,000
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. A,B and C enter into a partnership investing Rs. 35000, Rs. 45000 and 55000. Find the their respective shares in
annual profit of 40,500
(a) 10500, 13500, 19500 (b) 10500, 13500, 18500 (c) 10500, 13500, 17500 (d) 10500, 13500, 16500
. The new partner does not bring in cash for his share of goodwill under method.
(&) Memorandum revaluation (b) Revaluation (c) Premium  (d) None of these
. On admission of a new partner, increase in value of assets is debited to
(a) Asset Alc (b) Profit & Loss adjustment A/c
(c) Opening Statement of affairs (d) Cash Alc
. A new partner may be admitted to a partnership
(a) With the consent of old partners
(b) With the consent of two third of old partners

(c) With the consent of any one of the partner o
(d) Without consent of old partners ®
. Total proprietorship of the business is increased
(a) at the admission of a new partner (b) by the purchase of asset
(c) by admission through investment (d) All of these Q
(d) ne&t%

. At the time of admission of a new partner the following are revalued
(@) Assets (b) Liabilities (c) Both e

. The profit or loss on revaluation of assets and liabilities is transferred to the capital agcount of
(@) The old partners (b) The new partner
(c) All the partners (d) The Sacrificing partners g

. Undistributed loss will appear on the side of the Balance sheet. ,Q
(@) Assets (b) Liabilities (c) Both (a) & (b) (d) \on;\ of these

. At the time of admission of a new partner, revaluation of S anq g should be taken up.
(a) capital, assets (b) capital, liabilities  (c) assets@p_il{[ (d) none of these

. The net result of revaluation is adjusted through the accounts of the partners
() capital (b) revaluation (c) cash " (d) bank

. A partner who is newly admitted to the firm with th onsg:nt’of all the parties is called
(a) Salaries Partner (b) Incom; ther
(¢) Junior partner MMnor partner

partnership. The new profit sharing rati
sacrificing ratio between Balaji andgkam
(@ 1:3 (b) 3:1 ()% o (d) 1:2
. In order to maintain fair dealing effime of admission, it is necessary to revalue assets and liabilities of the
firm to their
(@) Cost price L {0 value (c) Selling price (d) None of these
48. When the value of an agset\ipcréases, it results in
i

. Balaji and Kamalesh are partners sharinﬁfe and losses in the ratio of 2:1. They admit Yogesh into

etwgeﬁ/ Balaji, Kamalesh and Yogesh is agreed to 3:1:1. Find the
24

(@) profit S (c) income (d) expense
49. Undistributed profi & ppear on the side of the balance sheet
() assets ébﬂ (b) liabilities (c) both 'a" and 'b’ (d) none of these
50. ed out of profit to adjust the reduction in the market value of the investments.
()¢ Inyesgfluctuation fund (b) Capital fund
ixetheapital method (d) Fluctuating capital fund
ho is admitted to the firm is known as .
(al utgoing partner (b) Incoming partner (c) Both (d) Working partner
52 List | List 11
Accumulated profits and loss : Reduction in the market
ii) Reserves : Profit and loss adjustment account
iii) Investment fluctuation fund : Investment fluctuation fund
iv) Revaluation account : Old profit sharing ratio

(@) () (i) (i) (iv) () (i) (i) (iv)
1 2 3 4 2 3 4 1
(c) () (i) (i) (iv) () (i) (i) (iv)
4 1 3 2 3 4 2 1
53. Revaluation account is also called

(a) Accumulation profit and loss account (b) Profit and loss adjustment account
(c) Profit and loss appropriation account (d) None of these

Kindly Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

www.Padasalai.Net www. TrbTnpsc.com

54. The new profit sharing ratio will be determined by how the new partner acquires from the old
partner.
(@) Liabilities (b) Assets (c) Share of profits (d) All of these
55. At the time of admission of a new partner, revaluation of and should be taken up.
(a) Capital & Assets (b) Capital & Liabilities
(c) Assets & Liabilities (d) Income & Expenses
56. To get sacrificing ratio should be deducted from old share.
(a) Gaining share (b) New share (c) Neither of the two (d) all the above
57. At the time admission of a new partner, general reserve is
(a) Debited to capital of old partners (b) Credited to capital of old partners
(c) Allowed to remain is balance sheet (d) Debited to current account
58. Balance sheet items like profit and loss account transferred to .
() old partners only (b) new partner s only (c) retired partners (d
59. On the admission of a new partner
(a) Old firm has to be dissolved

(b) Old partnership has to be dissolved
(c) Both old firm is partnership have to be dissolved «‘y Y
(d) Neither partnership nor firm has to be dissolved < \
. Under revaluation method goodwill account is raised by crediting the old partne accounts in the

old profit sharing ratio.
() capital (b) profit and loss (c) assets .'()d) revaluation
. The revaluation profit or loss is transferred to the old partner's ca , in their

(@) Old ratio (b) New ratio (c) Sa r|f atl (d) Gainratio
. In the event of admission of a new partner, legally there is & of oI)d partnershlp
(a) dissolution (b) indeed ( (d) none of these

. The accumulated profits, losses and reserves ad §3| n are to be distributed to the existing partners.
(a) After (b) Before (c) Later (d) Future
64. Decrease in provision for bad and doubtful debts willbe shewn inthe __side of Revaluation Account
(@) Debit (b) Credit a'and 'b’ (d) None of these
. Sumit and Ravi started a business by investin 85000 and 15000 respectively. In what ratio the profit earned
after 2 years be divided between Sumit ﬁres ectively.
(@) 17:1 (b) 17:2 c) 17)3" (d) 17:4
: List | - Listll
i) New share $ le Partner
i) Sacrifice 2. Revaluation
iii) Treatment of GoodW|II 3. OId share - Sacrifice
iv) Admission ° 4. Old share — New share

(@) (i) (il) % (IV) (b) gi) gi) gii) giV)
(c) (l) (IV) (d) (i) (i) (i) (iv)
xﬁ& Mg
. The revaluat ts and Iosses are recorded in the account
(b) Revaluation (c) Profit and loss (d) None of these

har the incoming partner is given without mentioning the details of the sacrifice made by the old
p n, the presumption is that old partners sacrifice in the

Id profit sharing ratio (b) Gaining ratio
c) Capital ratio (d) sacrificing ratio
69

dmission undistributed profit or loss transferred to
(a) New partners only (b) Old partners onIy
(c) All the partners (d) None of these
70. Increase in the value of liabilities, at the time of admission of a new partner, results in to old partners
(@) loss (b) profit (c) both 'a" and 'b’ (d) none of these
71. At the time of admission of a partner calculation of new profit ratio is
(a) Not necessary (b) Necessary (c) Optional (d) All the above
72. At the time of admission, the goodwill brought by the new partner may be credited to the capital accounts of
(a) all the partners (b) the old partners (c) the new partner (d) the sacrificing partner
73. At what purpose of admission of a new partner may be to raise additional capital. Give reason(s)
(a) For expansion of business (b) For managerial skill of the new partner
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(c) Both (a) & (b) (d) None of these
. At the time of admission of a new partner the firm is
(a) Dissolved (b) Continued (c) Not effected (d) Re-organized
. The partner admitted into partnership firm acquires two rights. i.e.,right to share in the of the
partnership and right to share in the
() Liabilities & Profit (b) Liabilities & Loss (c) Both (a) & (b) (d) Assets & Profits
. Goodwill is a(n):
(a) Tangible Fixed Assets (b) Tangible Current Assets
(c) Intangible Fixed Assets (d) Intangible Current Assets
. Find out the Correct Statement
(i) Current accounts of the partners should be opened when the capitals are either fixed.
(ii) This necessitates the calculation of new profit sharing ratio of the remaining partners.
(iii) The ratio in which the old partners have agreed to sacrifice their shares in profit in favouno ﬂanner is
called the sacrificing ratio.
(@) (i)iscorrect  (b) (i), (i) and (iii) are correct (c) (iii) is correct(d) (i) and (ii

(ii) There should be at least one month gap between two calls unless otherwis y the Articles of
Association of the company.
(iii) It is not compulsory that the new partner bring capital at the time ofpgmission.

(@) (i)iscorrect  (b) (i), (ii) and (iii) are correct (c) (i) and 0{; ech (d) (iii) is correct

Find out the Correct Statement
(i) Shareholders funds includes Equity share capital, Preference share capital,;‘«%?%a‘U /surplus.

. Find out the Correct Statement
(i) This is the maximum amount of capital which a company is aut \ISG}I to raise and is stated in the
Memorandum of Association \m y
(i) A Partnership firm suffering from shortage of funds or@il!i
partner.
(iii) In the revaluation account an increase in the value of land aﬁd building Appears on the credit side of good
will account. .9
(@) (i)iscorrect  (b) (ii) is correct (c) (i) anex(ii)Nare correct (d) (i), (ii) and (iii) are correct
. Find out the Correct Statement Yy
(i) The amount that the new partner br’iCn@Dh right to share in the partnership assets is called his capital

five incapabilities may decide to admit a

and is credited to his Capital accou
(ii) There should be at least one mogith ga
Association of the company. °
(iii) Any partner who investmentStimuthe’business but does not take active part in the business is Secret partner.
(@) (i)iscorrect  (b) (ii) is ceprect (c) (i) and (ii) are correct (d) (i), (ii) and (iii) are correct
. Assertion (A): The amoant he new partner brings in for the right to share in the partnership assets is called

his capital and is credit Capltal account.
Reason (R): Wherea ideration which he pays to the old partners for the right to participate in the
ca

division of future iled Partner.
@) Both ) are true and (R) is the correct explanation of (A)
(b) Both (R) are true and (R) is not the correct explanation of (A)
(c ( rue, but (R) is false
(A)Sssfalse, but (R) is true
82. Asser ] ): It is not compulsory that the new partner bring capital at the time of admission.
eason (R): He may be revaluation in view of his talent, skill and reputation.
af Both (A) and (R) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(c) (A)istrue, but (R) is false
(d) (A) is false, but (R) is true
83. Assertion (A): The Profit and Loss of Revaluation account shows the net effect on account of revaluation which
is transferred to old partners accounts in their old profit.
Reason (R): The assets and liabilities appear in the Balance Sheet of the reconstituted firm at their revised
values.
(@) Both (A) and (R) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(c) (A) istrue, but (R) is false
(d) (A) is false, but (R) is true

ekelveen two calls unless otherwise provided by the Articles of
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84. Assertion (A): A Partnership firm suffering from shortage of funds or administrative in capabilities may decide
to admit a partner.
Reason (R): Admission of a partner is one of the modes of reconstituting the firm.
(a) Both (A) and (R) are true and (R) is correct explanation of (A)
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(c) (A) is true, but (R) is false
(d) (A) is false, but (R) is true
. Assertion (A): devaluation is the valuation of assets and liabilities at the time of reconstitution of the partnership
firm.
Reason (R): At the time of admission of a partner, the assets and liabilities are revalued so that the profit and
loss arising on account.
(@) Both (A) and (R) are true and (R) is the correct explanation of (A) o
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A) ®
(c) (A)istrue, but (R) is false
(d) (A) is false, but (R) is true
. Find out the wrong pair
a) Memorandum revaluation account - Permanent account

b) New profit sharing ratio - Agreed proportion
c¢) Sacrificing ratio - Favour of the new partner
OI hare

d) Share sacrifice - New partner's share x
XII ACCOUNTANCY - UNIT - 06- 1SQ 91 X1=091

If the amount due to the outgoing partner is transferred to loan ac |s entltled to interest at
until it is paid out.

@ 9% (b) 5% (c) 6% \m Y (d) 8%
The proportion in which the continuing partners benefit d ratirement of partner

(a) Sacrificing Ratio (b) Gaining Ratio (c) Both\(a) & (b) (d) None of these

is calculated to determine the amount of compensation t6 be paid by each of the continuing partners to

the outgoing partners .

(@) Old ratio (b) Gaining ratio C) New ratio (d) Sacrifice ratio
At the time of dissolution all the assets of firm =y ansferred to the realization A/c

(&) Market Value (b) Boo lue (8) Cost Value (d) Bale Value
N, S and K have been sharing profit in t@atu) 0F 3:5:7. K retries and his share is taken by N and S in the ratio
of 3:2 the new radio will be .

(@ 12:13 (b) ° ©2:1 (d)3:2

The partnership may came to an ue’to the
(a) Death of a partner (b)Insolvency of a partner (c) Both (a) & (b) (d) None of these
Which of the following is d to partners Capital at the time of retirement of a partner?
(@) General Reserv: (b) Profit on revaluation
(© Accumulated (d) Accumulated profits
If the value off I| ies ecrease it results in item.
(@) Profit (b) Loss (c) Expenses (d) None of these
On the retlre partner reserves should be transferred to the capital Account of
artner(b) Remaining partner (c) All partners (d) None of these
10. A u d outgoing partner is shown on the balance sheet as his
bility (b) Asset (c) Capital (d) Loan
ayal ala and Neela are partners sharing profits in the ratio of 2:2:1. Kayal retires and the new profit sharing
between nila and neela is 3:2. Calculate the gaining ratio.
(a) 2:1 (b) 1:2 ()11 (d)3:1
12. Partner’s equity is affected due to
(a) Retirement of a partner (b) Admission of a partner
(c) Death of a partner (d) All of these
13. The settlement is to be done in the manner prescribed in the
(a) Partnership-at-will (b) Partnership deed
(c) Both 'a"and 'b' (d) None of the above
14. At the time of retirement of a partner, calculation of new profit ratio is
(@) Compulsory (b) Optional  (c) Necessary (d) Not necessary
15. Find the correct formula
(a) Gaining Ratio = New Ratio + Old Ratio (b) Gaining Ratio = Old Ratio + New Ratio
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(c) Gaining Ratio = New Ratio - Old Ratio (d) Gaining Ratio = Old Ratio - New Ratio

. On the retirement of a partner, profit in revaluation of assets and liabilities should be credited to the Capital
Accounts of
(d) Retiring partner in their old ratio(b) All partners in their old ratio
(c) Remaining partner in new ratio (d) Remaining partner in old ratio
is the proportion of the profit which is gained by the continuing partners

(a) Sacrificing ratio(b) Gaining ratio(c) New profit ratio(d) Old profit sharing ratio
. The gain of remaining partners is equal to

(@) Their new share (b) Their old share  (c) New share - Old share (d) Old share- New share.
. A, Band C share profits in the ratio of ¥, 3110, 1/5. G dies, the gaining ratio of A and B will be

(@ 1:1 (b) 1:3 (c)5:3 (d)3:1

. Debit balance of revaluation account is .3
(@) Loss (b) Profit (c) Gain (d) Income ®

. The purpose of preparation of revaluation account is .
(&) To find out gross profit (b) To find out net profit
(c) To find out financial position (d) To find out results of revaluation of as f% liabilities
. A, B and C are partners sharing profits and losses in the ratio of %2, 3/10 and 1/5. &ey from the firm. A and
C decide to share the future profits and losses in 3 : 2. Calculate gaining ratio \
@ 1:2 (b)3:2 (©)2:3 (d) None of these
. The loss or gain on account of revaluation at the time of retirement of a partner |s sfaredby
(a) Remaining partners (b) Retiring partners %
(c) All partners (d) None of these
. If the remaining partner want to continue the business, after the retir ery of a partner, a new partnership

agreement is \.
(a) Revaluation of assets and liabilities (la)eAs nmg his share of goodwill
(c) Finding the amount due to him (d) All of t )
. X, Y and Z are partners in the ratio of 5:3:2 Goodwill is valued’at 40,000. If Z retire, the amount of goodwill

credited to his capital account is @
(@) Rs. 8,000 (b) Rs. 50,000 N\L2,000 (d) Rs. 12,000
€10

. At the time to retirement Balance Sheet items li ¥it and loss account and General reserve must be
transferred to
(a) Revaluation A/c b) Paytﬂﬁrs capital A/c
(c) Both'aand'b (d) None of the above
. Hari, Roy and Prasad are partners i% ratio of 3:5:1 respectively. Roy wants to retire. His share is being
purchased by Prasad. What wo lh? new ratio of Hari and Prasad respectively?
@ 1:2 (b) 2:1 (c) 3:;5 (d) Equal
. When a partner dies, firm w eive the
(@) 1/2 amount of (b) 1/4 amount of policy
(c) 3/4 amount of; (d) Full amount of policy
. If the goodwill is the extent of retiring partners share account is to be debited
(@) Cash (b) Goodwill (c) All partner’s capital (d) Retiring partners’ capital
.A,BandC anaBr g profits in the ratio of 2/5: 2/5:1/5. C retired, from business and his share was purchased
equally b . Then new profit sharing ratio shall be
and B-1/2 (b) A-3/S and 2/5
(c /S and B-3/S (d) A-2/S and B-1/5
31" All the accounts are settled among partners and creditors at the time of of a business
af Dissolution (b) Retirement (c) Admission (d) None of these
amount due to the retiring partner is either or is paid in installments.
(a) Paid of immediately (b) Installment
(c) Loan (d) None of these
33. How are unrecorded assets treated at the time of retirement of a partner?
(a) Credited to revaluation A/c (b) Credited to capital account of retiring partner only
(c) Debited to revaluation Alc (d) Credited to partner’s capital A/c
34. When a partner withdraws his capital from the partnership firm, it is called of a partner
(@) Admission (b) Death (c) Retirement (d) All of these
35. P, Q and R are partners sharing profits in the ratio of 4:3:1. P retires and his share is taken by Q and R equally.
Calculate new profit sharing ratio of Q and R.
@ 1:1 (b) 4:3 (c)3:4 (d) 5:3

32.
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. When the values of liabilities increases, it results in
(@) Profit (b) Loss (c) Income (d) Expenses

. An account operated to ascertain the loss or gain at the death of a partner is called
(a) Realization Alc (b) Revaluation Alc
(c) Executors Alc (d) Decreased partner’s A/c

. On the retirement of a partner increase in the value of assets is recorded in
(a) Revaluation A/c (b) Cash Alc
(c) Old partners capital A/c (d) None of the above

. In case of death of a partner the whole amount standing to the credit of his capital account is transferred to___
(a) Capital account of all partners (b) Capital accounts of remaining partners
(c) His executors account (d) Revenue account of the Government

. Excess of actual capital over proportionate capital o
(@) Surplus Capital (b) Deficit Capital (c) Share of profits (d) All of these ®

. A partner who retires from the firm is called an
(a) Outgoing partner (b) admitted partner (c) death of a partner  (d) n thege

. A, B and C are partners with capitals of Rs. 1,00,000; Rs. 75,000 and Rs. 50,000. (%@etirement his share is

acquired by A and B in the ratio of 6 : 4. Gaining ratio will be Y

(@) 3:2 (b) 2 : 2(c) 2 : 3(d) None of these \
. Profits and losses of previous years which are not distributed to the partners are

(a) Accumulated profit and losses (b) general reserve

(c) Reserve fund (d) workmen compensati fupd)
maybe taken on the life of the partners in a partnership @

(@) Life policies (b) Insurance premium (c) Both' (d) None of these
. At the time of retirement of a partner workmen Compensation erveh ter meeting the legal requirement is

transferred to ﬂ
(a) Revaluation Account (b) All part ers apital Alc

(c) Sacrificing Partner's Capital A/c (d) Old partners capital A/c
. On retirement of a partner the continuing partner's capital aegounts are debited with retiring parties share of
goodwill in

(@) Old profit sharmg ratio

(b) New profit sharing ratio
. X,Y,Z were partners sharing profits in the rati 07'5:3:2. Goodwill does not appear in books, but it is agreed to

be worth Rs. 1,00,000. X retires frogn the and Y and Z decide to share future profits equally. X’s share of
goodwill will be debited to Y’s and capital A/c’s in ratio
(@) 1/2:1/2 ) 3(c) 3:2(d) None of these
. Capital account of a retlrlng artne Iways shows balance
(@) Credit %‘b) Debit (c) Asset (d) Liability
. X, 'Y and Z are partners profits | the ratio of 5:3:2. If Y retires then new ratio will be
(@) 5:2 (c)3:2 (d)1:1
. The net result of r atfon is adjusted through the accounts of the partners
@) Capltal (b) Real(c) Nominal (d) None of these
Undlstrlbute fitand losses __transferred to all the partners at the time of retirement of a partner.
e (b) should not be (c) may be (d) none of these
retlrement there is some unrecorded liability, it will be
(b) Credited to Revaluation the A/c
(c) Transferred to old partners A/c  (d) Transferred to all Partners Capital A/c
5 i, Nagappan and Ulaganathan are partners sharing profits in the ratio of 4:3:3. Ulaganathan retires and his
shafe is taken up by mani and Nagappan in the ratio of 3:2. Calculate the new ratio.
(a) 20:10 (b) 21:19 (c) 29:21 (d) 19:21
54. The amount due to the partner is either paid off immediately or is paid in instalments.
(@) Admitting (b) Retiring (c) Death (d) All of the above
55. The firm is reconstituted and other partners continue the partnership firm with a new
(a) Contract (b) agreement (c) start business (d) none of these
56. On the death of a partner, his, share in the profit of a firm till the date of his death is transferred to the
(a) Debit of profit and Loss account (b) Credit of profit and Loss account
(c) Debit of profit and Loss Suspense account (d) Credit of profit and Loss Suspense account
57. Credit balances of Profit and loss Account- appearing in the Balance sheet on the death of a partner is credited
to
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(a) Deceased partners Capital account
(b) All partners capital account (Including deceased partners capital - account
(c) Remaining partners capital account
(d) None of the above
. The section related to the retirement of partner in Indian partnership Act is
(@) 30(a) (b) 31(1) (c) 21(c) (d) 20(a)
. Retirement / death of a partner will not be dissolution if remaining partners are to continue it.
(a) Dissolution (b) Optional (c) Agreed (d) All of the above
. List 1 List 1
Q) Profit and 1. Workmen compensation fund
(i) Reserve 2. Current value differ from book value
(iii) Revaluation 3. Agreed proportion
(iv) New profit sharing ratio 4. Accumulated profits
@ () @ Gy @(v) (b () (i) (i) (iv)
1 2 3 4 2 3 4 1
© @ Gy (v) (d () @iy (i) (iv)
3 4 1 2 4 1 2 3 R
. The method under which amount payable to the retiring partner is paid off at agime

(@) Immediately paid method (b) Lump-sum meth

favour of :
(a) Outgoing Partner (b) Incomintg,Pagtner
(c) Both (a) & (b) (d) wathﬁese

ratio is calculated by taking out the difference b

(c) Both (a) & (b) (d) None of th
. Sacrificing ratio is the ratio in which the old partners (existing) ha%e%a'hlﬂce their share of profit in

ratio \

(&) Gaining(b) Sacrifice (c) Old ” (d) New

. The retiring partner should be paid off or the amount.due tO‘f)Im will be treated as his to the firm
(d) Bank (b) Loan (d) None of these

proflt sharing ratio and old profit sharing

. In the absence of any provision in the partnershig 8eed Interest on account remaining unpaid to the executor of

deceased partner D,
(@) Will not be allowed. 2 (b) Will be allowed.@ 6% (p/a)
o8ses

(c) Will be allowed even if therg are (d) Will be allowed @ 5%. (p/a)
. At the time of retirement of partner existing partners stand to

(@) Gain (b) Los 3, (c) Income (d) None of these
. If the goodwill account is raised fo 0 000, the amount is debited to

(@) The capital account rtners (b) Goodwill account

(c) Cash account (d) Loan account
. Revaluation account j % to find out gain or loss at the time of

@) Adm|55|0 tner (b) Retirement of a partner

(c) Dea (d) All of these

. A, Band C artners sharlng profits and losses in the ratio of 3: 2 : 1. On 1st April, B retired and the new

t|o between A and C decided to 3 : 2. On 31st March there were reserves of firm Rs. 24,000.
I be divided among partners as
- Rs. 8000, B - Rs. 12,000, C - Rs. 4,000
b) A"- Rs. 8000, B - Rs. 12,000, C - Rs. 4,000
C}A - Rs. 8000, B - Rs. 12,000, C - Rs. 4,000
d) A -Rs. 8000, B - Rs. 12,000, C - Rs. 4,000
70. A balance sheet item like profit and loss account and general reserve must be transferred to
(a) Revaluation A/c  (b) Partner's capital A/c (c) Partner's capital A/c  (d) Suspense account
71. account which is otherwise called profit and loss adjustment account
(@) Capital (b) General reserve fund(c) Revaluation (d) Goodwill
72. The accounting procedure at the retirement of a partner involves
(a) As their old profit ratio (b) According to new ratio
(c) According to sacrificing ratio (d) None of these
73. At the time of retirement / death, income sharing ratio among the remaining partners may or change.
(a) May (b) May not (c) Change (d) All of these
74. In both types of policies, the insurance premium is paid by the
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(a) Sole tradership (b) Partnership firm (c) Hindu undivided family (d) None of these
. O, P, and Q are partners sharing the profits in the ratio of 3:2: 1. If P retires the new profit ratio for O and Q will
b

(@) 3:2 (b) 3:1 (c)2:1 (d)1:3
of partner will be paid off, before the settlement of partner’s capital.
(@) Capital (b) Loan (c) Asset (d) None of these
. Goodwill may be if all the partners are agreed, that it should not remain in the books
(a) Share (b) Distribute (c) Written off (d) None of these
. Partnership is on the retirement or death of a partner
(a) Dissolved (b) Agreed (c) Retired (d) None of these
. Old profit sharing ratio minus new profit sharing ratio is equal to
(a) Sacrificing Ratio (b) Ratio of Gain (c) Capital Ratio

(@) Increased partner (b) Deceased partner  (c) Partnership at will
. When a partner leaves from a partnership firm, it is known as

(@) Admission (b) Retirement (c) dissolution Q
: If all partners mutually decide for the dissolution, it will be dissolution ofthey .

(@) Firm (b) Corporation (c) Government (d) None of ese~‘
. Gaining ratio will be calculated by
(a) New ratio minus old ratio (b) Old ratio migus new ratio
(c) Old ratio minus sacrificing ratio (d) Old ratio minus pe h
maybe dissolved at any time by a partner serving notic I partners
(a) Partnership at deed (b) Di sol n g\f partnership
(c) Partnership at will (d) Akt‘tle above
. The profit or loss arising therefrom is transferred to the capi ts of all the partners inthe ___
(a) New profit sharing ratio (b) OId profit sharing ramming ratio (d) Sacrificing ratio
. Assertion and reason g
Assertion : The profit or loss on revaluation will be nsferve;d to partners capital accounts including the retiring
partner in the old profit sharing ratio.
Reason : The time of retirement of a partner, u ibtited profit or loss of the old firm should be transferred to

all partners capital accounts.
(a) Both (A) and (R) are true and( isth 6J rrect explanation of (A)

(b) Both (A) and (R) are true a
(c) (A)istrue, but (R)is false
(d) (A) is false, but (R) is
. Assertion : Any amount kept asideas 5. Reserve, General reserve, Reserve fund, contingency reserve etc.,
Reason : At the time of Petlr t of a partner, should be transferred to the capital accounts of all partners
including retiring partn old profit sharing ratio.
(@) Both (A) an ue and (R) is the correct explanation of (A)
(b) Both (A) re true and (R) is not the correct explanation of (A)
(©) (A |st R) is false
(d) (A) i ut (R) is false
he ratlo in which the continuing partners acquire the outgoing partner's share is called as Share

pot the correct explanation of (A)

\ is ratio is calculated by taking out the difference between new profit sharing ratio and old profit
aring ratio.
Both (A) and (R) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(c) (A)istrue, but (R) is false
(d) (A) is false, but (R) is true
89. Assertion : The goodwill appears in the balance sheet at a value more than the present value of goodwill The
goodwill appears in thebalance sheet at a value less than the present value of goodwill
Reason :The difference in the goodwill is transferred to all partners in the old ratio
(a) Both (A) and (R) are true and (R) is the correct explanation of (A)
(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)
(c) (A) istrue, but (R) is false
(d) (A) is false, but (R) is true
90. Assertion :The retiring partner is entitled for the amount due to him from the firm
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Reason :The amount due to the retiring partner is ascertained by preparing his capital account incorporating all
the adjustments like the share of Profit.

(@) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(c) (A)istrue, but (R) is false

(d) (A) is false, but (R) is true

91. Assertion : The goodwill appears in the balance sheet at a value less than the present value of goodwill.

Reason : The difference in the goodwill is transferred to all partners in the old ratio.

(@) Both (A) and (R) are true and (R) is the correct explanation of (A)

(b) Both (A) and (R) are true and (R) is not the correct explanation of (A)

(c) (A)istrue, but (R) is false

(d) (A) is false, but (R) is true @ "
X11 ACCOUNTANCY - UNIT - 07 - 1SQ 116 X 1 =116 ¢
1. In order to meet them production must be carried on a
(a) small scale (b) large scale (c) medium scale (d) none of these C)
2. The capital of companies is divided into small units called Q

(@) shares (b) debentures (c) dividend (d) none of the R
. The money raised by issuing shares is called <~)n
licati

(a) Share capital (b) Dividend (c) Equity capital (d) Share app
. Profits are distributed among the shareholders in the form of o
() shares (b) dividends (c) both (d) none %Y;es R
Company is a voluntary association of persons which has separate \
(@) legal entity (b) voluntary associati 9 /
(c) common seal (d) limited liabili 4
The liability of the shareholders of the company is limited tc&é;ent of face value of the shares held by the
y

() shareholders (b) cardholders (c) debenture holde (.d?pone of these
. The capital of a company is divided into small unit;éj >
(@) current amount(b) fixed amount (c) capitalNapount (d) none of these
. Equity shares do not enjoy any BC ),
(d) Equity rights (b) Preference rights Diyvidend of rights  (d) Ordinary shares
Equity shares are also known as R .

(a) authorised capital (b) is C (c) subscribed capital  (d) ordinary shares
10. Authorised capital is also known as\__*
(a) paid up capital 4db) eﬁj capital (c) nominal capital (d) subscribed capital
a

11. Paid up capital is that part up capital which has been actually paid by the
(@) shareholders (b) ON (c) cardholders (d) directors
12. Issue of equity share hespulilic through prospectus by a public company is call
(@) Public issue (% ate placement (c) Rights issue (d) Bonus issue
13. Issue of equit s 10 the existing share holders of the company through a letter of offer is known as

(@) publigissueN,, (b) rights issue (c) bonus issue (d) private placement
14. Issu ares to the existing shareholders of the company free of cost out of a accumulated profit is
known as
( ivate placement (b) public issue (c) rights issue (d) bonus issue
15. First installment called
(a) application money (b) allotment money  (c) first call money (d) final call money
16. Second installment called
(a) first call money (b) allotment money  (c) final call money (d) application money
17. Third installment called
() application money (b) allotment money  (c) first call money (d) final call money
18. The last installment called
(@) first call money (b) allotment money  (c) application money (d) final call money
19. Equity shares may be issued for cash at
(a) premium (b) discount (c) dividend (d) none of these
20. When a company issues shares at a price equal to the face value it is known as
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(a) issues at par (b) issues at discount  (c) both 'a' and 'b’ (d) none of these
21. When a company issues shares at a price more than the face value, the shares are said to be a
(a) issued at premium (b) issued at discount  (c) both 'a" and 'b' (d) none of these
22. When the number of shares subscribed is less than the number of shares offered, it is known as
(a) over subscription (b) under subscription  (c) allotment share (d) application money
23. When the number of shares applied for is more than the number of shares of fered for subscription, it is said to be
() under subscription (b) over subscription  (c) application money (d) allotment money
24. All applications are allotted in proportion of shares applied for, it is known as
(a) application money (b) pro-rata allotment  (c) first call money (d) final call money
25. The excess amount paid over the called up value of a share is known as
(@) call in advance (b) calls in arrear (c) both 'a' and 'b' (d) none of these
26. In the balance sheet, calls in advance should be shown as other ")
(@) current liability (b) current asset(c) fixed assets (d) none of these
27. When a shareholder fails to pay the amount due on allotment or on calls, the amount remaining unpaid is kn

() calls in advance (b) calls in arrears (c) under subscription (d) oversxe‘ytion

28. The public issue must be kept open for at least -« y
(a) 3days (b) 5 days (c) 7 days (d) 16,daysy
29. Match List I with List Il and Select the Correct Answer using the Codes given belo

List | List 11 o
Q) Voluntary association 1. Face value : -
(i) Common seal 2. Private company \
(iii) Limited liability 3. Affixed on the docum@pts /
(iv) Transferability of shares4. No law 4
@ () iy (i) (v) (© (@) (N (iv)
4 3 1 2 4 3 71 2
(b) (@) i)y (i) (v) @) (@) @iy (i) (iv)
1 2 3 4 1 2
30. Match List I with List Il and Select the Correct rﬁ'sing the Codes given below.
List | )t‘.l,ist Il
Q) Preference shares . ) Nominal capital

(i) Equity shares 2.. = Offered for subscription

(iii)  Authorised capital ’3. Ordinary shares
(iv)  Issued capital x* 4. Fixed rate
@ () (ii) i vy (¢ () @iy (i) (iv)
4 )(b'é 4 1 2 3
(b) (I) (||) (IV) @ @ i)y (i) (iv)
3 2

4 1
31. Match List I Wlwi Sd Select the Correct Answer using the Codes given below.
List List 11

(1) @ce shares 1. Internal Sources
(i Equitty shares 2. Issue of Debentures
i) 3.
4
(

iii re capital Dividend right

o External Sources . Dividend
(i) @ (i) @(v) () () @iy @) (iv)
4 3 1 2 2 3 4 1
(b) (@) @ Gy (v) (@d () @iy (i) (iv)
1 2 3 4 3 4 1 2
32. Match List I with List Il and Select the Correct Answer using the Codes given below.
List1 List 1l
(1) Issued Capital 1. Calls-in-Arrears
(i) Called-up Capital 2. Subscribed Capital
(iii) Uncalled Capital 3. Cumulative
(iv) Dividend right 4. Reserve Capital

@ @O @ @) (@) (© @O ) (i) ()
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2 4 3 4
(b) i @iy (v) (@ ()
1 3 4 3

33. and are ever growing.
() Human needs, wants (b) Workers,employees
(c) Wants and employment (d) None of these
34. needed by the company could be raised by inviting the general public to buy shares and invest in the
business.
(@) Money (b) Cash (c) Capital (d) None of these
35. The of the shareholders is limited to the face value of shares.

(@) liability (b) asset (c) both (d) none of these o
36. has perpetual succession and the liability of the members is limited. @ ®

(@) Company (b) Industry (c) Business (d) Organisation
37. is a voluntary association of persons.
(a) A company  (b) A business (c) An organization (d) None of thes

38. is an artificial person.
(2) Business (b) Industry (c) Organisation(d) Company
39. Acompany may havea ___ which can be affixed on the documents.

(@) common seal (b) limited liability (c) transferability of shares §E Iegd\entlty
40. towards the repayment of capital on winding up of the compa
(a) Equity share (b) Preference (c) Debenture
41. are those shares which are not preference shares.
(2) Equity shares (b) Preference shares (c) Both 'a' and 'b! None of these
42. means such capital as is authorised by the memorandu sociation.
(a) Authorised capital (b) Issued capital () Subscrlbeh "capital (d) None of these
43. is the maximum amount which be raised as capi I.
(&) Subscribed capital (b) Called up capital up capltal (d) Authorised capital
44, represents that part of authorised capital %ffered for subscription.
(a) Authorised capital (b) Issued capit Q) Subscribed capital  (d) Called up capital
45, refers to that part of issued capital Which has been applied for an also allotted by the company.
() Issued capital (b) Authorised cap (C)"Subscribed capital (d) Paid up capital

46. includes initial public offer, r'public offer.
(@) Rightsissue (b) Private place ne (c) Public issue (d) None of these

47. Application money must bp a per cent of the nominal value of the shares.

(a) 2 (b)3 (@6
48. As per SEBI gwdelm mum application money shall not be lessthan ___ per cent of the issue price.

(@ 10 (b)15 (d) 25
49. Calls are to be m OVIded in the of a company.
(a) Prospectus (b) Articles of Association

(c) m@m of Association (d) None of these
50. The t of@ne call should not be more than of the face value of the share.
(@), 25% 50%(c) 75% (d) 100%
51. is,returned to the applicants for rejected applications.
@) lication money  (b) Allotment money  (c) Under subscription (d) Over subscription
52. does not form part of the company's share capital and no dividend is payable on such amount.
(&) Under subscription  (b) Over subscription  (c) Calls in advance (d) None of these
53. Indian companies act, 20B, interest may be paid on calls in advance if Articles of Association so provide not
exceeding per annum.
(@) 6%  (b) 10%(c) 12%(d) 15%
54. Companies have been defined in section of the companies Act
(@) sec 2 (1) (i), 1981 (b) sec 3 (1) (i), 1956 (c)sec 2 (1) (j), 1981 (d)sec 3 (1) (j), 1956
55. _isconsidered as the official signature of the company.
(a) Voluntary association (b) Separate legal Entity (c) Common Seal (d) None of these
56. The management of a company is done by
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(&) Manager (b) Employer (c) Board of Directors (d) Owner
57. The liability of the share holders are in a company.
(@) limited (b) unlimited (c) both 'a' and 'b' (d) none of these
58. Nominal capital is the capital mentioned in the of the company.
() Articles of association (b) Memorandum of association
(c) Prospectus (d) none of these
59. The part of the capital not offered for subscription to the public is known as unissued.
(@) issued (b) subscribed (¢) unpaid (d) authorised
60. Reserve capital can be issued only at the time of
(@) windingup  (b) resolution (c) both 'a"and 'b’ (d) none of these
61. A public issue cannot be kept open for more days.
(@ 5 (b) 10 (c) 20 (d) 25
62. Minimum subscription that should be received by the company is % of the issued capital.
(@) 30% (b) 60% (c) 90% (d) 100%
63. When excess application money is adjusted towards allotment it is called as is@pita .

(a) 30% (b) 60% (c) 90% (d) 100% )

64. Capital Reserve represents profit. “
(d) Revenue (b) both 'a" and 'b’ (c) Deferred revenue  (d) Capital

65. shares have to be reissued at a price lesser than the face value. o
(a) Issue (b) Equity (c) Subscribed : e
66. Securities premium is shown in the side of the Balance sheetC
(a) asset (b) liability (c) both 'a' and 'b' (d)n é of these
67. According to companies (Amendment) Act 2000, a compan \kgy’shares can issue kinds of shares.
(@ 1 (b) 2 (c)3 d) 4
68. According to Table - A, interest charged on calls in - arrears is Y %
(@) 4% (b) 5% (c) 6% . o’ (d) 2%
69. According to Table - A, interest charged on calls i |n %
(@) 4% (b) 5% (c 60/ (d) 3%
70. When the company issue shares at a price yno n) the face value it is called as an issue at
@) Par (b) Premium ) D|)sc0unt (d) all of these
71. Normally companies can issue share “%% of discount.

(@) 5 (b) 10 & 20 (d) 25%
72. The balance of forfeited share ac% in the Balance sheet.

(a) added to paid up capital (b) added to authorised capital
(c) deducted from paid u I (d) deducted from subscribed capacity
73. Which of the following not shown in company’s balance sheet:
(a) Authorized capital (b) Issued and Subscribed capital
(c) Called and pai capital (d) Reserve Capital
74. Share applicati llotment account is a

(a) Pers a% (b) Real Alc (c) Nominal A/c (d) None of these
75. Secugities premium account is shown on the liabilities side of the balance sheet under the head:
(a), Share capital (b) Reserves and Surplus (c) Current liabilities  (d) None of them
76. {As per sgction 78 of the companies act, amount collected as premium on securities cannot be utilized for:
(a) Issping fully paid bonus shares to the members (b) Purchase of fixed assets
(C) Writing off preliminary expenses (d) None of these
77. The portion of the authorized capital which can be called-up only on the liquidation of the company is called
(a) Authorized capital (b) Reserve capital (c) Issued capital (d) Called up capital
78. Penalty for delay in refunding application money
(@) 6% (b) 5% (c) 15% (d) 20%

79. B Ltd. Issued shares of Rs.10 each at a discount of 10%. Mr.C purchased 30 shares and paid Rs.2 on application
but did not pay the allotment money of Rs.3. If the company forfeited his entire shares, the forfeiture account will
be credited by

(@) Rs.90 (b) Rs.81 (c) Rs.60 (d) Rs.54
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80. A company forfeited 2,000 shares of Rs.10 each (which were issued at par) held by Mr.John for non-payment of
allotment money of Rs.4 per share. The called — up value per share was Rs.9. On forfeiture, the amount debited to
share capital will be

(a) Rs.10,000 (b) Rs.8,000 (c) Rs.2,000 (d) Rs.18,000
81. Brave Ltd. Issued 60,000 shares of Rs.10 each at a discount of Re.1 per share. The application money was Rs.2,
allotment money was Rs.4 and finale call was of Re.1. The amount of final call will be
(@ Rs.3 (b) Rs.2 (c)Rs.1 (d) Rs.4
82. As per companies act, a company cannot proceed to allot shares unless is received
(@) Minimum Subscription (b) Allotment money
(c) Application money (d) Call money
83. Proposed divided is shown in the balance sheet of a company under the head

(&) Provisions (b) Reserves & Surplus (c) Current Liabilities (d) Other liabilities "3
84. Premium received on issue of shares are shown under the head of in balance/sheet
(@) Reserves & Surplus  (b) Current liabilities  (c) Share capital (d) Capital @yg
rred to

85. The profit remaining after issue of forfeited shares, in share forfeiture account will beral
(@) Profit & Loss Alc (b) Share Capital A/lc  (c) General Reserves  (d) (fa{i/%sye

86. Holders of preference shares will have a right to vote if the dividend remains in-digearsfor"a period not less than

(@) 2years (b) 3 years (c) 6 years (d) None of the above E o
[
arg

87. The minimum share Application money is g
(@) 5% of the face value of shares (b) 10% of the issue pric
(c) Rs.1 per share (d) 15% of th%v}\;ué of shares

88. When shares issued at premium which of the following accouynt i jted?

(&) Share premium Alc (b) Share I'A/c
(c) Share allotment A/c (d) Share forf}'rted Alc

89. Minimum number of members in case of public company is_ LY
(a) 4 (b) 5 (c)6
90. After getting minimum subscription of shares, tlt Yny has to allot shares within days

(@ 90 (b) 100 (c) 110 (d) 120
91. If the company-A purchases the majority shares ¢f company-B, what combination would this be referred to?
(@) Amalgamation (b) Takeo * (c) Absorption (d) None of these
92. When two or more companies caigy/in iMilar business decide to combine, a new company is formed, it is
known as %‘
(@) Amalgamation (b) Abso%g (c) Internal reconstruction  (d) External reconstruction

94. When share issued ar t applied shares are 8,000 then it is a case of :

(a) Over Subscrip (b) Under Subscription (c) Pro-rata (d) None of these
95. Which of the fcﬂ&i statement is true:

(@) Auth iz@ital = Issued capital (b) Authorized capital > Issued capital
(c upeapital > Issued capital (d) None of these
96. In case of pPyivate placement of shares to raise the amount of capital, a company:
itgs the public through prospectus (b) Does not invite the public
c))Invite the public through advertisement (d) None of these
97. Securities Premium Reserve collected by the company can be used for:
(@) Issue of bonus shares  (b) Payment of dividend (c) Any business purpose (d) None of these
98. Shareholder are the
(@) Owner of the company (b) Lenders of the company
(c) Customers of the company (d) All of these
99. Interest on calls in advance is
(@) 4% p.a. (b) 5% p.a. (c) 6% p.a. (d) 7% p.a.
100. A company is allowed by law to sell 2,00,000 shares at Rs.2 each. Three-quarters(3/4) of these shares were
bought by the public. What is the issued share capital?
(@) Rs.1,00,000 (b) Rs.3,00,000 (c) Rs.4,00,000 (d) Rs.5,00,000

93. Other name for registered ¢
(@) Issued Capital % minal Capital (c) Reserve capital (d) None of the above
e& b
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101. The excess amount paid over the called up value of a share is known as
(a) Callsinarrear (b) Callsinadvance  (c) Capital Reserve (d) None of these
102. When a shareholder fails to pay the amount due on allotment or on calls, the amount remaining unpaid is known

(@) Calls in arrear (b) Calls inadvance  (c) Capital Reserve (d) None of these
103. Equity share holders are

(a) Creditors (b) Owners (c) Directors (d) None of these
104. Money received in advance from share holders before it is actually called-up by the company is

(a) Debited to calls in advance A/c (b) Credited to calls in advance A/lc

(c) Debited to calls A/c (d) None of these

105. Securities Premium Reserve can be used for : N
(a) paying interest on debenture (b) Meeting the loss on issue of shares @ °

(c) Paying tax liability (d) Paying dividend on shares.
106. When shares are allotted- which of the following account is credited?

(a) Share capital Alc (b) Share allotment A/c (c) Share Application A/c (d) Sh e‘Qers /c
107. Right issue of shares is issued to . i\y
(a) Directors (b) Employees (c) Existing shareholders (d) P@)

108. What rate a company is required to charg-e interest on calls in arrears?
@) 12%p.a (b) 10% p.a (c)5% p.a (d) 6% p.a )
109. What rate a company is required to pay interest on calls in advance2”~ g
(@) 6% p.a(b) 12% p.a (c) 10%p.a (d) 5% p.a ’C \
110. According to Companies Act 2000 a company limited by shar&nisﬁye’_.kinds of shares.

(@ 1 (b) 2 (c)3 (d)5 y
111. The Maximum calls that a company can make N ‘

(@) one (b) two (c) three (d) four Y
112. Capital Reserve is shown on the side of balance sheet.
(@) Assets (b) Liability  (c) Both of these
113. Find out the Correct Statement |\
(i) Sole proprietorship and partnership/fir sg-ugy not be able to raise large amount of capital to equip
themselves with these )

(ii) The capital of companies is diviided int6"small units called shares.
har
i

(iii)The money raised by issui i$ called share capital
(@) (i)iscorrect (b) (ii) is corre&‘( and (ii) are correct (d) (i), (ii) and (iii) are correct
114. Find out the Correct Statem

(i) Company is an artifi on.
(ii) A company may ma ommon seal which can be affixed on the documents.
(iii) The shares of a& nyare freely transferable except in case of a private company

@ (i)is correct@%) i) 1s correct (c) (i) and (ii) are correct (d) (i), (ii) and (iii) are correct

4

115. Find out the ct"Statement
(i) Rat ividend is not fixed on equity shares and it depends upon the profits earned by the company
(idssued Capital means such capital as is authorised by the memorandum of association.
(iii) Subseribed capital refers to that part of issued capital which has been applied for and also allotted by the
pany.
correct  (b) (ii) is correct (c) (i) and (ii) are correct (d) (i), (ii) and (iii) are correct
ich one of the Following is Correctly Matched?
(@)  Firstinstallment - Application money
(b)  Second instalment - Final call money
(¢)  Third instalment - Allotment money
(d) Lastinstalment - First call money

XI1 ACCOUNTANCY - UNIT -08 - 1SQ 48 X1 =48
1. Which statement are prepared by the business concerns at the end of the accounting period to ascertain the
operating results and the financial position?
(&) Trend analysis (b) Income statement  (c) Financial statement (d) Balance sheet
2. Financial statements are prepared based on
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(a) past data (b) future cost (c) terminal cost (d) historical cost
which statements are involve personal judgment in certain cases?
(a) Financial statements (b) Income statement
(c) Profit and loss account statement (d) None of these
Different tools are used for analysing the
(a) balance sheet (b) financial statement (c) income statement  (d) none of these
The term fund refers to
(a) Working capital (b) Opening capital (c) Closing capital (d) None of these
When figure relating to several years are considered for the purpose of analysis, the analysis is called
(a) Horizontal analysis  (b) Vertical analysis  (c) Trend analysis (d) Cash flow analysis
Comparative statement and trend percentages are examplesof __~~
(@) Cash flow analysis (b) Trend analysis (c) Horizontal analy: analysis (d) Vertica
Preparation of common size statements and computation of ratios are examples of
(a) Ratio analysis (b) Vertical analysis  (c) Horizontal analysis (d) None of
Common size statement can be prepared with
(a) double column (b) single column (c) three columns Iumns
. Which of the following are techniques, tools or methods of analysis and inter tat |nanC|aI statements?
(a) Ratio analysis (b) Average analysis  (c) Trend analysis (d) An above
. Interpretation of accounts is the
(a) art and science of translating the figures
(b) to know financial strengths and weakness of a business ) \
(c) to know the causes for the prevailing performance of b iness\) /
(d) all of the above \ 3
. The term 'Financial statement' covers N .
(a) Profit & loss statement N
(b) Balance sheet and profit & loss statement appropriation account
(c) Profit and loss statement and balance sheet o !
(d) None of these ) 4

. A technique that is used in comparative y@Ef nancial statement is
(@) graphical analysis pr?féfence analysis

(c) common size analysis returning analysis
. Match List I with List Il and Select Covrect Answer using the Codes given below.

List I List Il
(1) Comparative statem Tendency of movements
(i) Common size sta 2. Working capital
(iii)  Trend analysis Ix 3. Previous years
(iv) Funds flow 4, Different periods of time
@ @) |||) vy (b @) i)y (i) (iv)
4 1 2 1 2 3 4
© ) i) (v) d () (i) (i) (iv)
2 3 4 1 3 1 2 4
concerns prepare income statement and balance sheet at the of an accounting period.
(&) Business (b) Industry  (c) Trade (d) None of these
asic financial statement prepared by business concerns are and
(&Y Profit and loss account balance sheet (b) Trial balance, Trading account
(c) Income statement, manufacturing account (d) Income statement, balance sheet
includes manufacturing account and trading and profit and loss account.
(@) Income statement (b) Expenditure statement
(c) Financial statement (d) None of these
shows the net result of business activities during an accounting period.
(a) Expenditure statement (b) Financial statement
(c) Income statement (d) None of these
is a statement of assets and liabilities which shows the financial position as on a particular date.
(a) Financial statement  (b) Trial Balance (c) Balance sheet (d) None of these
can get information about the ability of the business to repay by the debits from financial statements.
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(a) Creditors (b) Debtors (c) Owners (d) All of these
information is non monetary information is also important for business decisions.
() Personal judgment (b) Qualitative (c) Quantitative (d) Historical
includes both analysis and interpretation.
(a) Financial statement analysis  (b) Trend analysis (c) Both 'a"and 'b' (d) None of these
refers to elucidation and explanation of the results of analysis.
(@) Information  (b) Interpretation (c) Data(d) None of these
comparison is comparison within the organisation among different departments, division etc.
(@) Intra-firm (b) Inter-firm  (c) Both 'a'and 'b' (d) None of these
comparison is comparison of one firm with other firm or firms in the industry.

(@) Intra firm (b) Inter firm  (c) Both 'a’ and 'b’ (d) None of these
: is required in analysing the financial statements.
(2) Expert knowledge (b) Quality information (c) Historical data (d) Nonefof the

. The statements can be compared with those of previous years.
(@ Common-size (b) Comparative (c) Both 'a"and 'b'
refers to the tendency of movement
(@) Ratio (b) Trend (c) Both 'a'and 'b' (d) None of these
refers to the study of movement of figures over a period.
(a) Comparative statement (b) Common -size statement (c) Trend analxﬁ d) Iagnds flow analysis.

refers to the excess of current assets over current liabiliti
(@) Income (b) Profit and loss account sheet (d) Working capital
analysis is useful in judging the credit worthiness financial plannmg and preparation of budgets.
(@ Trend (b) Funds flow (c) Cash flowx (d) All of these
analysis helps in assessing the quuiditMlv ncy of a business concern.
(@) Fund flow (b) Trend (c) Cash flowy (d) None of these
. Comparison of financial statements highlights the trend of the of the business.

(a) Financial position (b) Performanceﬁ@ﬂt‘abi’lity (d) All of the above

. Financial statements are meaningful and useful When they are

. | Interpretation of Financial statements i dexea mﬁcesses like,
(@) Journalising

(c) Establishing relationship betWw®een the accounting date  (d) None of these
. Trend analysis is significant for%. 4

(@) Verified (b) Presented toCn s?b) nalysis and interpreted (d) Published

= (b) Ledger writing

(a) Profit planning (b) Working capital Management
(c) Capital rationing” (d) Forecasting and Budgeting.
. The three most useful geqe urpose financial statements for management for
(@) Income sta % lance sheet, and statement of changes in financial position
(b) Income s% , Statement of Retained Earning and Balance sheet.
(c) Inco ent, Statement of Retained Earning and Funds flow statement.
(d), Stat f Retained Earnings, Balance sheet and Funds flow statement.
. The te @xt Assets does not include
ayments in advance (b) Bills Receivable
(c) LYong-Term Deferred changes (d) Receipts and Payment A/c
(ﬂlowmg is a recorded fact
(a) Market value of Investment (b) Debtors
(c) Replacement cost of machinery (d) Creditors
40. The term Fixed Assets includes
(@) Stock-in-Trade(b) Furniture  (c) Payments in Advance (d) Bills receivable
41. In the case of a limited company the term financial statements include
(a) Balance sheet
(b) Profit & loss Alc
(c) Profit and loss Ale and Balance sheet
(d) Profit and loss and Appropriation A/c and Balance sheet
42. Financial statements provide a summary of .
(a) accounts (b) assets (c) liabilities (d) none of the above
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. Financial statements are :
(a) anticipated facts (b) recorded facts (c) estimates of facts  (d) none of the above
. Find out the Correct Statement
(i) When ratio of previous years are compared with current years, they are called trend ratios
(ii) Trend percentages and trend rations are used in static analysis.
(iii) Reliability of financial analysis depends upon the reliability of financial data.
(@ (i) and (ii) (b) (i) and (iii) (c) (ii) and (iii) (d) (i), (i) and (iii)
. Which of the following statements are true?
(i) Common -size balance sheet shows relative value of the various items.
(ii) In the common size income statement, each product is represented as a percentage of the net sales figure.
(iii) Common size income statement represents the various elements as a percentage of the grow%ﬁt. N
[}

(@) (i) and (ii) (b) (i) and (iii) (c) (ii) and (iii) (d) (i), (ii) and (iii)
. Which of the following statements are true?
(i) External analysis depends entirely on issued financial statements.
(ii) Interpretation and analysis both are different Q
(iii) Financial analysis covers interpretation. «‘y ) o
(@) (i) and (ii) (b) (i) and (iii) (c) (ii) and (iii) (d) (i), (ii) and (ii
. Which of the following is true about financial statements? f(/
(i) Financial statement gives a summary of accounts
(ii) Financial statements can be stated as recorded facts. b
(@) (i) and (ii) (b) (i) and (iii) (c) (ii) and (iii) ( d (iii)
. Which of the following statements are true?
(i) Financial statements are only interim report 24
(i) Financial statements are also known as annual recordsN
(iii) Financial statements are historic %
(@) (i) and (ii) (b) (i) and (iii) (c) (ii) and.(m) (d) (i), (ii) and (iii)
X1 ACCOUNTANCY - UNIT -09 - 1SQ 119 X1=119
01. The financial status and financial performance of b éntities can be assessed through
(a) financial analysis (b) manage (c) cash flow statement (d) none of these
. If both items in a ratio are from balance shee itis afrfred as
(@) Inter statement ratio Inc eStatement ratio  (c) Balance sheet ratio (d) All of these
. If the two items in a ratio are from income Statement, it is classified as
(a) balance sheet ratio (%m?statement ratio (c) inter statement ratio (d) none of these
. If aratio is computed with one ite income statement and another item from balance sheet, itis called

. Which ratio is the proportio d income bearing funds to equity shareholders funds?
(a) Debt eqU|ty ) apital gearing ratio (c) Proprietary ratio (d) Profitability ratio
. Which ratio indicates |ency of utilisation of fixed assets?
(@) Invento over ratio (b) Trade receivables turnover ratio
(c) Tyad ables turnover ratio (d) Fixed assets turnover ratio
. All solvepcyrat e expressed in term of
portion (b) Time (c) Money (d) Percentage
. AllaacCtivity ratios are expressed in terms of
¢ Money (b) Percentage (c) Times (d) Proportion
. All profitability ratios are expressed in terms of
(@) Proportion (b) Percentage (c) Times (d) Money
. Shareholder funds includes
(a) Equity share capital, preference share capital, reserve and surplus
(b) Loans from banks and financial institutions
(c) Equity share capital, preference share capital, reserves & surplus and loans from banks
(d) None of these
. Operating ratio is equal to
(a) 100 - Operating profit ratio (b) 100 + Operating profit ratio
(c) Operating cost (d) None of these

(@) Inter-statement ra I x (b) Balance sheet ratio  (c) Income statement ratio (d) None of these
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12. Cost of goods sold is Rs.4,00,000 and average stock is Rs.8,00,00. Stock turnover ratio will be
(@) 5times (b) 4 times (c) 7 times (d) 8 time
13. Current assets of a business concern is Rs.60,000 and current liabilities are Rs.30,000. Current ratio will be_
@ 12 (b) 1:1 (c)2:1 (d) 3:2
14. Liquidity ratios are also called as
(@) Currentratio (b) Quick ratio (c) Profitability ratio  (d) Short term solvency ratios
15. Equity share capital is Rs.2,00,000, Reserve & surplus is Rs.30,000. Debenture Rs.40,000 and the shareholder's
funds will be
(@ Rs.2,00,000 (b) Rs.2,30,000 (c) Rs.1,90,000 (d) Rs.1,70,00
16. Match List I with List Il and Select the Correct Answer using the Codes given below.
List | List 1
(i) Ratio . Certain number of times
(i) Pure . %
(iii) Percentage . Quotient
(iv) Time . Mathematical expression
@@ () i)y (i) (v) (b)) () @iy (i) (iv)
1 2 3 3 2 4 1
) (@ i)y (i) (v) @) (@) @iy (i) (iv)
4 3 2 1 2 1 3 4
17. Match List I with List 11 and Select the Correct Answer using the Codes gitren
List | List 1l @ \

(i) Current assets . Acid test ratio \ 9 /
(i)  Current liabilities : Longterm solvency positi,%_\ 2
(iii) Quick ratio . Short term provisions ’

(iv) Debt equity ratio . Inventories 4

@ @ @) (i) (v) (b (i) (i) (8 (i)
1 3 4 2
© (@ @) (i) (v) (d (i@ (i) (iv)

3 2 4 1 4
18. Match List | with List Il and Select the Corre Ansyver using the Codes given below.
List I Listll
(i)  Capital gearing ratio ’A°ctivity ratio or Efficiency ratios
(ii)  Turnover ratios &4 Revenue from operations
(iii)  Fixed assets turn over ratios 3. Earning capacity of the business
(iv) Profitability ratios (b'ﬂ Proportion of fixed income

@@ () (") ("l) ()N ()] (i) (i) (iv)
1 '& 4 1 2 3

() () (") ('V) @@ @ (i) (i) (iv)
3 2 3 4 1

19. Match List w:@t Il and Select the Correct Answer using the Codes given below.
.“ SList List Il

i) roprietOopy Ratio . Credit Purchases /Average Accounts Payble
(i) kJurnover Ratio . Cost of Goods Sold/ Average Stock
(iii)  Creditors Turnover Ratio : Shareholders funds/ Total tangibleassets
(iv) Capital Turnover Ratio : Gross Profit /Sales
@ () @iy @i (@ () ) @iy (i) (iv)
1 2 3 3 4 1 2
© @O @) @iy @ @ @ @iy (i) (iv)
3 4 1 2 3 4 1
20. Match List I with List 1l and Select the Correct Answer using the Codes given below.
List | List 11
(i)  Profitability ratio 1. Debtors turnover ratio
(i)  Liquidity ratio 2. Debt -Equity ratio
(iii)  Solvency ratio 3. Operating profit ratio
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(iv) Activity ratio 4. Current ratio
@ () @iy i)y (v) () (i) @iy (i) (iv)
4 3 2 1 3 4 2 1
© @ i)y (i) (v) @) (@) @iy (i) (iv)
3 4 1 2 2 3 4 1
21. is one of the important tools of financial analysis.
(@) Cash flow (b) Profit (c) Ratio analysis (d) None of these
22. is the most important and powerful tool for measuring performance of a business enterprise.
(@) Cheque analysis(b) Ratio analysis (c) Fund flow statement (d) None of these
23. is a mathematical expression of relationship between two related or interdependent items.

(a) balancing statement (b) accounting statement (c) statement of affairs (d) accou

25. is expressed as a quotient.
(@) Pure (b) Percentage (c) Statement (d) None of these Q

26. is expressed in certain number of times of a particular figure. 37/
(@) Pure (b) Percentage (c) Times (d) None of iéesn}

217. classification of ratios is done on the basis of the financial statements from witighthe ratios are calculated.
(@) Traditional (b) Functions  (c) Both (a) and (b) (d) None of th% o

28. means capability of being converted into cash with case. -
(@ Liquidity (b) Long term debts (c) Turnover  (d) Proﬂ

29. help to assess the ability of a business concern to meet its shafit term 1§ aancial obligations.
(a) Longterm debts ratio (b) Liquidity ratios (©) Profi'@@os (d) Turnover ratios

30. gives the proportion of current assets to current liabilities usiness concern.

(@) Ratio (b) Cheque (c) Cash (d) None of these o
24. When ratios are calculated on the basis of accounting information, these are called %{2 °
r(ing ra

(@) Currentratio (b) Turn over ratio (c) Quick ratio (d) Noﬁe of these
31. is the time between the acquisition of an asset f%%ssn and its realisation into cash and cash equivalents.

(@) Quick assets  (b) Operating cycle (c) Cony, eriod (d) Inventory
32. ratio gives the proportion of quick assets to Miabilities.

(@) Current (b) Cash (c) Qui g) Profitability
33. are current assets excluding inventorie§and grepaid expenses.

(@) Quick assets  (b) Fixed assets c Non-fixed assets ~ (d) None of these
34. means the firm's ability to meet,its\i ilities in the long run.

(@) Longtermsolvency  (b) Shao&m solvency (c) Profitability (d) None of these
35. ratio is calculated to a$es g term solvency position of a business concern.

(a) Capital gearing ( ietary (c) Debt equity (d) Profitability
36. ratio expresses the re N between long term debt and shareholders' funds.

(a) Debt equity tary (c) Capital gearing (d) None of these
37. ratio gives tlon of proprietors funds to total assets.

(a) Debt equity 4&) roprietary (c) Capital gearing (d) Inventory turn over

38. ratioqs ure of long term solvency as well as capital structure.
(@ Pr ility' (b) Debt equity (c) Proprietary (d) Capital gearing

ratios Shew how efficiently assets or other items have been used to generate revenue from operations.
iquidity (b) Long term solvency (c) Turnover (d) Profitability
indicates the number of times inventory is turned over to make revenue from operations during a particular
accounting period.
(a) Inventory turnover ratio (b) Trade receivable turnover ratio
(c) Trade payables turnover ratio (d) Fixed assets turnover ratio
41. ratio is the comparison of net credit revenue from operations with average trade receivables during an
accounting period.
(@) Inventory turnover (b) Trade receivables turnover
(c) Trade payable turnover (d) Fixed assets turnover
42. is the average time taken to collect the amount due from trade receivables.
(a) Debt collection period (b) Average collections period (c) Conversion period  (d) None of these
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ratio indicates the numbers of times the trade payable is turned over during the period in relation to net credit
purchases.
(@) Inventory turnover (b) Trade receivables turnover
(c) Trade payables turnover (d) Fixed assets turnover
44, is the average time taken by the business for payment of accounts payables.
(a) Debt collection period (b) Credit payment period
(c) Average collection period (d) Conversion period
ratios help to assess the profitability of a business concern.
(@) Liquidity (b) Profitability (c) Long term solvency (d) Quick
ratio is the proportion of gross profit to net revenue from operations.
(a) Operating cost (b) Net profit  (c) Gross profit (d) Return on investment
ratio is a test of the operational efficiency of the business.
Gross profit (b) Operating cost (c) Net profit  (d) Operating profit
ratio is an indicator of operational efficiency of an organisation.
(@)  Net profit (b) Gross profit (c) Operating cost (d) Operating profit
49, ratio is an indicator of the overall profitability of the business.
(@) Gross profit  (b) Net profit (c) Operating cost (d) Operatin ro?i‘
is an overall measure of profitability of a business concern.
(@) Return on investment (b) Conversion period (c) None of th% .Sd) Average period
51. ratio measures the firm ability to pay off its current dues.
(@)  Current (b) Absolute (c) Liquid (d) Debt
52. Bank overdraft is an example of liability
(@) Current (b) Liquid (c) Short term @m
53. assets means current assets less stock and prepaid expense ’
(@) Current (b) Fixed (c) Liquid (d) N})ﬁe the these
54. ratio shows the relationship between share holder uncjm}roprletors fund and total tangible assets.
(@) Liquidity (b) Current (d) Profitability
55. ratio is otherwise called as Inventory turn 0 i
(@) Capital (b) Stock turn over r rietary (d) Profitability
56. are final result of accounting work doge durjng the accounting period.
(@)  Current affairs (b) Financ state ents (c) Statement affairs ~ (d) None of these
57. The opening stock and the closing ,QOT) Rs.17,000 respectively. The average stockis
() Rs.50,000 (b) Rs.25 0001%4 (c) Rs.16,000 (d) Rs.30,000
58. Ratio helps in forecasting

(@) Management cial (c) Ratio (d) None of these
59. aret Q&Ss which are easily convertible into cash.
(@)  Current assets & fiCtitious assets (c) Liquid assets (d) Fixed assets
60. ed to assess the firm’s short term liquidity.
(@) Current |qU|d (c) Fixed (d) None of these
61. atig js mOdIerd form of liquid ratio.
(a) Ligui (b) Absolute Liquid (c) Fixed (d) None of these
62. Liquid liabilitigs means current liabilities less
(@) ills Receivable (b) Bills Payable (c) Bank overdraft (d) Creditors
63. Gross. profit can be ascertained by deducting cost of goods sold from
(@) Purchase (b) Sales (c) Capital (d) Drawings
64. 100% - Operating profit ratio is equal to
(@ Cost (b) Management (c) Operating Profit ratio (d) Operating ratio
65. When total sales is Rs.2,00,000, cash sales is Rs.65,000, then credit sales will be Rs
(@ Rs.1,35,000 (b) Rs.2,65,000 (c) Rs.35,000 (d) Rs.65,000
66. Liquid ratio is otherwise known as
(@) Currentratio (b) Absolute Ratio (c) Quick ratio/Acid test ratio (d) None of these
67. Solvency ratios are expressed in terms of
(@) Proportion (b) Times (c) Percentage (d) None of these
68. Liquid liabilities means
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(@)  Current liabilities (b) Current liabilities — Bank overdraft
(c) Current liabilities + Bank overdraft (d) None of these
69. Shareholders’ funds includes
(a) Equity share capital, reference share capital, reserves & surplus
(b) Loan from bank and financial institutions
(c) Equity share capital, reference share capital, reserves & surplus, Loan from bank and financial institutions
(d) None of the above
70. Which of the following operation is correct?
(@) Tangible Assets = Land + Building + Furniture
(b) Tangible Assets = Land + Building + Goodwill

(c) Tangible Assets = Land + Building + Furniture + Copy right
(d) None of the above ° N
71. Gross profit ratio established the relationship between <

(@) Gross profit & Total sales (b) Gross profit & Credit Sales ‘Q

(c) Gross profit & Cash sales (d) None of these
72. Opening stock is Rs.10,000; Purchases Rs.2,00,000 and Closing stock is Rs.5,000. C{L&?Qy

0dssold to
(@ Rs.2,25,000 (b) Rs.2,15,000 (c) Rs.2,05,000 (d) Rs.2,10,000

73. Total sales is Rs.3,40,000 and the gross profit made is Rs.1,40,000. The cost of goods will be
(@ Rs.2,00,000 (b) Rs.4,80,000 (c) Rs.3,40,000 (d) Rs.2,10, 00

74. Total sales of a business is Rs. 8,75,0000. If cash sales is Rs.3,75,000, t k.}NI“ be
(@ Rs.12,25,000 (b) Rs.5,00,000 (c) Rs.12,00,000 ,000

75. can be calculated by deducting cost of goods sold fr sales /

(@) Gross profit (b) Net profit (c) Gross lgss : ' (d) Net loss
76. The Opening stock and Closing stock are Rs.72,000 and Rs.48,0 ectively. Then the average stock is

(@ Rs.1,20,000 (b) Rs.60,000 () Rs.24,000\/ (d) Rs.20,000
77. The relationship of net profit to sales is known as [ -

(@)  Net profit ratio (b) Net loss ratio °profit ratio  (d) Gross loss ratio
78. Sales Rs.3,00,000. Cost of goods sold Rs.2,55,000. C ofitis
‘9) Rs.

(@ Rs.5,55,000 (b) Rs.45,000 2,55,000 (d) Rs.3,55,000
79. Cost of goods sold is Rs.2,00,000. The openifig stock in the beginning of the year is Rs.55,000, and the closing stock
at the end of the year is Rs.25,000. Ther re the*stock turn over ratio is

(@ 3 Times (b) 5 Times % (8) 6 Times (d) 4 Times
sal

80. The relationship of Gross profit to nown as
(@) Net profit ratio (b) losgratio (c) Gross profit ratio  (d) Gross loss ratio
81. Sales Rs.3,50,000, capital emp 5.1,75,000. Then the capital turnover ratio is
(@ 2Times (b) 3 X (c) 5 Times (d) 7 Times
82. Prepaid expenses are sho

(a) Liabilities : (b) Assets (c) Capital (d) None of these

83. Absolute liquid a 2

(a) Cash, an@ hort term investments (b) Cash, Bank and Stock
(c) Cash , Steek, and Prepaid Expenses (d) None of these
84. Stoc |s a

(@) ixed assets (b) Current assets (c) Current liability (d) Capital
85. Operating expenses include
(@) Administration and Selling Expenses (b) Selling and Distribution Expenses
(c) Administration, Selling and Distribution Expenses (d) None of these
86. Indicate the performance of the business
(a) Activity Ratios (b) Solvency Ratios (c) Liquidity Ratios (d) Profitability Ratios
87. Assets = Total current assets - (Stock + Prepaid expenses)
(@)  Current (b) Liquid (c) Fixed (d) Tangible
88. is useful in finding the strength and weakness of a business concern
(a) Financial Analysis (b) Ratio Analysis (c) Statement Analysis (d) None of these
89. Liquidity ratios are otherwise called as
(@) Long term solvency ratio (b) Short term solvency ratio  (c) Both (a) & (b) (d) None of these
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90. The relationship of liquid assets to current liabilities is known as
(@) Liguid Ratio  (b) Current Ratio (c) Absolute Liquid Ratio (d) Solvency Ratio
91. Indicates the extent to which the firm depends upon outsiders for its existence
(@) Debt-equity Ratio (b) Proprietary Ratio  (c) Absolute Liquid Ratio (d) Solvency Ratio
92. ratio determines the overall efficiency of the business
(@) Liquid Ratio (b) Net Profit Ratio (c) Gross Profit Ratio (d) Solvency Ratio
93. The relationship between sales and capital employed is known as
(a) Capital Turnover Ratio (b) Current Ratio (c) Stock Turnover Ratio  (d) Solvency Ratio
94. General Profitability ratios are based on
(@ Investments  (b) Sales (c) Both (a) & (b) (d) Purchase
95. While calculating Gross Profit ratio,
(@) Closing stock is deducted from cost of goods sold
(b) Closing stock is added to cost of goods sold (c) Closing stock is ignored (d) None of these
96. Given Sales is 1, 20,000 and Gross Profit is 30,000, the gross profit ratio is
@ 24% (b) 25%(c) 40% (d) 44%
97. If selling price is fixed 25% above the cost, the Gross Profit ratio is
@ 13% (b) 28%(c) 26% (d) 20%
98. Profit for the objective of calculating a ratio may be taken as
(a) Profit before tax but after interest (b) Profit before mteres&ca)b)
(c) Profit after interest and tax (d) All of these
99. Which of the following statements are true about Ratio Analysis?
Ratio analysis is useful in financial analysis
Ratio analysis is helpful in communication and c@@'
Ratio analysis is not helpful in identifying weak sp the business
Ratio analysis is helpful in financial plannlng and forec‘astmg
(@ i, iiandiv (b) i, iii and iv (©) i, iiand ii (d) i, ii, iii and iv
100. Which of the following are limitations of Ratio
Ratio analysis may result in false res s\ Vi |at|0ns in price levels are not considered
Ratio analysis ignored qualitatiye
Ratio analysis ignores quantitative fagtors
: Ratio analysis is historica alys
(@ i, iiandiv (b) i, iii and iv, % 8)| ii and iii (d) i, ii, iii and iv
efi

101. When the concept of ratio is d ih respected to the items shown in the financial statements, it is termed as

102. In the Balance sheet the debt equity ratio is 2:1. The amount of long term sources is Rs.12 lacks. What]
is the amount of tanglbl orth of the firm?
(@) Rs.12 lacks (b) Rs.8 lacks (c) Rs.4 lacks (d) Rs.2 lacks
103. Debt Equity i5°3:1, the amount of total assets Rs.20 lacks, current ratio is 1.5:1 and owned funds Rs.3
lacks. What i ount of current asset?
@ Rs S (b) Rs.3 lacks (c) Rs.12 lacks (d) Rs.2 lacks
104. Intheb ce sheet amount of total assets is Rs.10 lacks, current liabilities Rs.5 lacks & capital & reserves are
R ks, What is the debt equity ratio?
(@) 1 (b) 1.5:1 (c)2:1 (d) None of the above
105. Proprietary ratio is calculated by
(a) Total assets/Total outside liability (b) Total outside liability/Total tangible assets
(c) Fixed assets/Long term source of fund (d) Proprietors’ Funds / Total Tangible Assets
106. Which ratio is considered as safe margin of solvency?
(@) Liquid Ratio (b) Quick Ratio (c) Current Ratio (d) None of the above
107.  Turnover ratios are also known as
(a) Activity Ratios (b) Performance Ratios (c) Both (a) & (b) (d) None of these
108. Which ratios measure the firm's ability to meet its short term obligations in time?
(a) Profitability Ratios (b) Liquidity Ratio (c) Activity Ratio (d) :None of the above
109. For calculating quick assets and are excluded from Current Assets.

(a) Accounting Ratio (; cial Ratio (c) Costing Ratio (d) None of these
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(a) Debtors and Inventory (b) Inventory and Bills payable'
(c) Cash and Bank (d) Inventory and Prepaid Expenses
110. Ideal current Ratio is
@ 11 (b) 1:2 (c)2:1 (d)3:1
111.  Which of the following Treasure the firm's ability to meet its long - term obligations?
(@) Liquid Ratios (b) Activity Ratios (c) Profitability ratios (d) Solvency Ratios
112.  Which ratio measures the velocity of conversion of stock into sales?
(@) Working Capital Turnover Ratio (b) Inventory Turnover Ratio
(c) Current Ratio (d) Liquid ratio
113. Assets that can be converted into cash within a year or within the period of an operating cycle is
(@) Tangible assets (b) Fixed assets (c) Current assets (d) Intangible assets

114.  Find out the Correct Statement "3
()  Financial statements normally include Trading, Profit and Loss, Account and Balance Shegt.

(ii) A detailed cause and effect study of the profitability and financial condition is the overa tivg of Ratio

analysis. Qﬂ

(iii) financial statements analysis is the process of determining and interpreting the n gl r8lationship between

figures of financial statements.
(@ (i)iscorrect (b) (i), (ii) is correct  (c) (i), (it) and (iii) are correct {0)/(

115.  Find out the Correct Statement o
(i) In the words of Spicer and Pegler “the relationship of an item to anothefex @ ell in simple mathematical form is
known as a ratio" 'C
(ii) In the words of Carter "the relationship of an item to another ex@ﬁg $imple mathematical form is known as

i), (iii) are correct

\

aratio”
(iii) In the words of Kennedy and Me Millan "the relationship Mn to another expressed in simple
mathematical form is known as a ratio"

(a) (i) is correct (b) (ii) is correct (c) (i), (ii) and (iii) ar orrgab’ (d) (iii) is correct
116.  Find out the Correct Statement ‘éﬂ’&
t

Yy

(i) Current Ratios measure the firms' ability to payoéc\ dues i.e., repayable within a year. Liquidity ratios are
otherwise called as Short Term Solvency Ratjgs. ®,
(ii) Liquidity Ratios measure the firms' abilitygfo payoff current dues i.e., repayable within a year. Liquidity ratios are
otherwise called as Short Term SolvencyfRatios.™
(iii) Absolute Ratios measure the firmg. abi fo payoff current dues i.e., repayable within a year. Liquidity ratios
are otherwise called as Short Term %@/ Ratios.

(@ (a) (i), (i1) and (iii) are corregty(b) (i) and (ii) are correct (c) (i) is correct (d) (ii) is correct
117.  Find out the Correct Stat %
(i) Quick ratio is used to firm's short term liquidity. The relationship of liquid assets to current liabilities
is known as Current rati
(ii) Acid Test ratio i assess the firm's short term liquidity. The relationship of liquid assets to current
liabilities is know! rent ratio.
(iii) This ratjo i to assess the firm's short term liquidity. The relationship of liquid assets to current liabilities is
known aslliquid ratio.
(@) (i) is corr (b) (i) and (iii) are correct (c) (iii) is correct  (d) (i), (ii) and (iii) are correct
ind gut the Correct Statement
ncy refers to the firm's ability to meet its long term indebtedness. Solvency ratio studies the firm's ability
to meet its long term obligations.
(i) A ratio is a mathematical relationship between one items expressed in a quantitative form.
(iii) A detailed cause and effect study of the profitability and financial condition is the overall objective of Ratio
analysis.
(a) (i) and (ii) are correct (b) (i) and (iii) are correct (c) (i) is correct (d) (1), (ii) and (iii) are correct
119.  Which one of the Following is Correctly Matched?
(@) Gross profit ratio - Net profit ratio /Revenue from operations x 100
(b) Operating cost ratio - Operating Cost Revenue from operations x 100
(c) Operating profit- Revenue from operations + Operating cost
(d) Net profit ratio - Gross profit Revenue from operations x 100
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XII ACCOUNTANCY - UNIT -10- 1SQ 86 X 1=286
1. CAS helps to compute various taxes and to deduct these and deposit the same to the
() Private account (b) Company account
(c) Government account (d) None of the above
2. In 2009, Tally Solutions introduced the software
(@) Tally. ERP9 (b) Tally. ERP 10
Transactions are to be recorded through
() journal entries (b) voucher entries (c) accounting entries  (d) none of these
All transactions related to receipt either in cash or through bank are recorded using
(a) payment voucher (b) contra voucher
(c) receipt voucher (d) sales voucher
All transactions related to payments either in cash or through bank are recorded using
(@) journal voucher (b) contra voucher (c) receipt voucher (d) payment vouch
In payment voucher, cash or bank account is credited and other ledger account is
(a) debited (b) credited (c) both 'a'and 'b’ (d) none of these
All transactions involving both cash account and bank account is recorded using
() receipt voucher (b) payment voucher  (c) contra voucher (d) sale votehe Y
Automated accounting is an approach to maintain up-to-date accounting recor@t id of

(a) System software (b) Accounting software

(c) Tally. ERP 6.0 (d) Tally. 8.0

(c) System hardware (d) Accounting hardware
9. Which from the following is better in accounting? g
(a) Book keeping (b) Computerised accounting ,C ( oth (d) None of these

10. Single entry mode is applicable for 4
(a) Receipt voucher(b) Payment voucher (© Cwqmﬁer
11. To change current data from Gateway of Tally press the ke* é
(@) F1(b) F2(c) F5(d) F9 )
12. Branch/Division is a group defined under

(&) Assets(b) Income(c) Liabilities(d) Expendit 9
13. Suspense account group is defined under
(a) Assets(b) Income(c) Expenditure(d) Liabities

(d) All of these

Yy

14. Company Restore option is available in
(&) Configuration  (b) Company featur
15. Match List I with List Il and Select$c

¢) Company Information  (d) Both 'a' and 'b'
Answer using the Codes given below.

List I Lis

(i CAS

[}

1 Accol §fUrmation System

2 Computer Information System
@iii)  AIS 3. ent Information System
(ivy CIS 4 erised Accounting System

@ ) (if) DYy (v) (@ () (if)
3 4 & 1 1 2
(b)y @) (‘bi (i)~ (v) (@ (@) (if)
4 q 1 2 2 1
16. Li;g{ List I
(1) Receipt voucherl. F4

(ii) ment voucher 2 F9

(i)  MIS

17.

Hi ontra voucher 3.
® Purchase voucher

() (i) (i)
1 2 3

() @) (i) (i)
3 4 2

List |
Q) Sales voucher
(i) Journal voucher 2.
(ii)  Tally, ERP 90
(iv) Wages
@ @) ) (i)
1 2 3
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4. F6

(iv) (@ (@) (i)

4 4 3

(iv) () (@) (i)

1 2 1
List 11

1. 2009
Direct expenses

3. Provision for bad debts

4, F8
(iv) (¢ (@) (i)
4 3 4

(i)
2

(iii)
4

(iii)
2
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() @ Gy @) @G (d @ @) @) (iv)
2 1 4 3 4 3 1 2

refers to the system of maintaining accounts using computers.

(&) Computer software system (b) Computer accounting system
(c) Computer hardware system (d) None of the above

facilitates fast and accurate retrieval of data and information.
(a) Computer accounting system (b) Accounting software
(c) Both (d) None of the above

is a compilation of accounting information that are derived from the accounting records of a
business concern.

(a) Accounting report (b) System software
(c) System hardware (d) Accounting system

. Accounting reports can be classified into types. ® "
(@) two (b) three (c) four d) five
. is a system that provides information for decision making at all levels of man t.
(@) Computer Accounting System (b) Computer Information System
yste
m?"m
e

(c) Management Information System (d) Management Accounting S Y
collects financial data, processes them and provides information Q S users.
S

(a) Accounting System (b) Management Accounting
(c) Accounting Information System (d) Management Information System
is one of the most widely used financial accounting so w%.'ﬁ
(@) Tally (b) Excel (c) Word pread sheet
: is used by various types of trade and industries. 4 /\
(a) Microsoft (b) Tally (c) Excel \o«%) (d) C++
shows the company selected under List of %te% panies on the left pane
(@) Tally. ERP9 (b) Microsoft (c) Gate of QII ) (d) None of these
. Which is the short cut key used for closing Tally? d
(@) Ctrl +F1 (b) Ctrl + Shift + F4  (c) Qirl + *; (d)Ctrl +Q
. Tally has predefined ledgers.
(@) two (b) three (d) six
is a document which contai d@ils f transactions.
(@) Voucher (b) Receipt '(f:) Report (d) Statement
are used for recording héth ¢ d credit purchases of goods.
(a) Purchase voucher (c) Journal voucher (d) Contra voucher
are used for re bath cash and credit sales of goods.
(a) Purchase voucher (c) Contra voucher (d) Receipt voucher
. Tally is designed to meet th(byirements of
i (b) Small Company

(@) All types of Co
(c) Small and me pany (d) None of the above
. Gateway of Tally operated into .

() Six secti (b) Five sections (c) Seven section s(d) Eight sections
. For creating : ny we use
(

+ ) Alt+ Fl (c) Alt+ F2 (d) Esc key
ctindsa company we use .
(b) FI (c)Ctrl+FlI  (d)F2

367 Groups are .
af Collection of ledgers in Tally (b) Type of Voucher entry
(c) Both of the above (d) None of the above

37. There are 15 primary groups are

(a) 12 sub-groups (b) 13 sub-groups (c) 11 sub-groups (d) 10 sub-groups
38. Bank Accounts comes under

(@) Current Assets (b) Loans (c) Current Liabilities (d) Capital Account
39. Nature of the primary group is among one of the following.

(a) Assets, Liabilities, Revenue and Capital (b) Balance sheet and Profit & Loss Account

(c) Assets, Liabilities, Income and Expenses (d) None of the above
40. When group behaviour is like sub ledger is set to No

(a) It behaves like ledger

(b) The same will display all the ledgers grouped under the same in detail mode
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(c) All of the above
(d) None of the above
. Choose the correct answer.
(@) All the transactions are recorded through Voucher Entry
(b) All the transactions are recorded through Journal Entry
(c) All the transactions are recorded through Receipts and Payment Entry
(d) All of the above
. How to enter VVoucher option is
(a) Gateway of Tally > Account Vouchers > F6: Receipt
(b) Gateway of Tally > Transactions > F6: Receipt
(c) Gateway of Tally > Transactions > Accounting VVouchers > F6: Receipt
(d) None of the above
. How to enter the contra VVoucher option is
(a) Gateway of Tally > Transactions > Accounting Vouchers > F4: Contra
(b) Gateway of Tally > Accounting VVouchers > F4: Contra
(c) Gateway of Tally > Transactions > F4: Contra
(d) None of the above
. How to control the Sales voucher?
(a) Gateway of Tally > Transactions > F8: Sales
(b) Gateway of Tally > Transactions > Accounting VVouchers > F8:
(c) Gateway of Tally > Accounting Vouchers > F8: Sale B. )
(d) None of the above
. How to enter the Journal VVoucher?
(a) Gateway of Tally > Transactions > F7: Journal \
(b) Gateway of Tally > Accounting Voucher > F7: Jo
(c) Gateway of Tally > Accounting Voucher > Transactiens™® F7: Journal
(d) Gateway of Tally > Transactions & Accounting Vouchéfs > F7: Journal
. Find out the Correct Statement )
(i) Computerise Accounting System facilitates fa ccurate retrieval of data and information.
(ii) Accounting report may be classified as routi rts and special purpose reports
(iii) Accounting information system collgcts f aw:i | data, processes them and provides information to the
various users. )
(@) (i) is correct (b) (i) and (ii) are correct
(c) (ii) and (iii) are correct (o) (|) (i) and (iii) are correct
. (i) Sales vouchers are used fo ing both cash and credit sales of goods.
(ii) Purchase vouchers are used foryecording both cash and credit purchases of goods.
(i) All transactions related ments either in cash or through bank are recorded using receipt voucher
(@) (i) is correct (b) (i) and (ii) are correct

(c) (i) and (iii) & (d) (i), (ii) and (iii) are correct

S.YUVARAJA M.COM., M.ED., DIPCE.,

Q PG ASSIST IN COMMERCE AND ACCOUNTANCY|
« CENTURY FOUNDATION MATRIC. HR.SEC.SCHOOL,

C‘?

Kindly Send Me Your Questions & Answer Keys to us: padasalai.net@gmail.com


https://whatsapp.com/channel/0029VaAqUqk9Bb672tBn033m

